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BBE/JIEHUE

KonTponbuble 3apanusi npegHa3HAueHbl AJI1 CTYACHTOB 3KOHOMHU-
YEeCKHMX, MHKCHEPHBIX M OMOJIOTHUECKUX CIeNUALHOCTEH (akynbTeTa
3209HOTO O0YyYeHUsI, U3YJArOIINX aHTIMHACKUH A3bIK. [IpakTukym mpen-
CTaBISIET COOOW KOHTPOJIbHBIE 3a/laHUsI B TPEX BapHaHTax, CTPYKTypa
KOTOPBIX CTEPEOTUIIHA: OPUTMHAIBHBIM TEKCT HA AHTJIMHCKOM SI3BIKE TT0
CIIEIIMATIBbHOCTH JJI UTEHUS W NEPEBOJA HA PYCCKUH SA3BIK W 33JIaHHS HA
OCHOBE ayTEHTHYHOTO A3BIKOBOTO MaTepHaja Ha ONPENEIEHHOE Ipam-
MaTHYECKOE SBJICHHE, BBIITOJHEHNE KOTOPBIX CIIOCOOCTBYET HE TOJIBKO
Pa3BUTHIO HABBIKOB INEPEBOAA JUTEPATYPHI MO CHEMUAIBHOCTH, HO W
pacIIMpeHuro NpoeCCUOHATBHBIX 3HAHUM CTYICHTOB B UX MPEJAMETHOMN
obmactu. llenb KOHTPONBHBIX 3aJaHUN — OTNPENEIHTh YPOBEHB OCTa-
TOYHBIX 3HAHUM CTYIAEHTOB MO MPONUIEHHBIM JIEKCUKO-TPAMMAaTHIECKAM
TeMaM U 4epe3 MOBTOPEHUE aKTUBU3UPOBATh NU3YUYCHHBIN MaTepHal.

[Ipy BEINIOJTHEHNN JAHHBIX KOHTPOJBHBIX 3aJJaHUN PEKOMEHIYETCS
WCTIOJIBb30BaTh TaK)Ke yI4EOHUKHU 10 HOPMATHBHOW TPaMMaTHKE aHTIIHIA-
CKOTO 513bIKa, OOIIHE U CTICIHAIbHbBIE PYCCKO-aHTIIMICKHAE CIOBAPH.

PA3JAEJ 1
KonTpoabnas padora Ne 2
(111 IKOHOMHUYECKHMX CIEeUATBbHOCTE)

I BAPUAHT

1. [IpouuTaiiTe TekcT, oOpamas BHUMaHue Ha cHOocku (Notes).
Bblyuure cioBa K TEKCTY HAM3YCTh.

Theory Of Demand

1. Consumer demand is the quantities of a particular good that an
individual consumer wants and is able to buy as the price varies, if all
other factors influencing demand are constant.

2. That is, consumer demand is the relationship between the quanti-
ty demanded for the good and its price. The factors assumed constant
are prices of other goods, income, and a number of noneconomic fac-
tors, such as social, physiological, demographic characteristics of the
consumer in question.

3. The theory of demand is based on the assumption that the con-
sumer having budget constraint seeks to reach the maximum possible
level of utility, that is, to maximize utility, but he usually prefers to ob-
tain more rather than less. The consumer has to solve the problem of
choice. Provided he is to maintain a given level of utility, increases in
the quantity of one good must be followed by reductions in the quantity
of the other good. The consumer has to choose the specific goods within
the limits imposed by his budget.

4. The concept of marginal utility is of great importance for solving
the utility maximization problem. The marginal utility of a good is the
additional utility obtained from consuming an additional unit of the
good in question. The marginal utility from consuming a good decrease
as more of that good is consumed. The income should be allocated
among all possible choices so that the marginal utility per dollar of ex-
penditure on each good is equal to the marginal utility per dollar of ex-
penditure on every other good.

5. A price increase will result in a reduction in the quantity de-
manded. This relationship between the quantity demanded of a good
and its price is called the law of demand. As the marginal utility from
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each additional unit of the good consumed decreases, the consumer will
want to buy more of this good only if its price is reduced.

6. Market demand is the quantities of a good that all consumers in
a particular market want and are able to buy as price varies and as all
other factors are assumed constant. Market demand depends not only
on the factors affecting individual demands, but also on the number of
consumers in the market. The law of demand also works with market
demand.

Notes:

consumer demand MOTPEOUTENBCKHUI CITPOC

constant MOCTOSIHHBIN, HEU3MEHHBI !

to assume mpenarnoJarartb

assumption MPETIOIOXKCHUE

budget constraint OI0/DKETHOE OTPAHUYCHHE

marginal utility npenaesbHas (Map >KUHaJIbHAs) T0JIE3HOCTh
to obtain MOJTy4aTh, JOOUBATHCS

within B IIpeaesnax

market demand PBIHOYHBIN CTIPOC, TPEOOBAHMUS PhIHKA
to maintain MOJIIEPKUBATH, COXPAHSITh

additional JIOTIOJIHUTEIBHBIH

expenditure PacXoIbI

quantity KOJIMYECTBO

in question 0 KOTOPOM HIIET pedb

income J0XO0/T, TPUOBLITH

unit e JUHHULIA

to vary MEHSTBCS, BapbUPOBaTh

2. [loaTBepANTE WM ONPOBEPrHUTE BBHICKA3ZLIBAHUS OTHOCH-
TEJILHO COMEP:KAHUsI TEKCTAa W HCNPaBbTe HEBEPHbIE YTBepP:KIeHUsI
(True/False/Non stated).

IIpenJioxkeHuns nepeseauTe.

1. Consumer demand is the relationship between the quantity de-
manded for the good and price.

2. The manufacturer must solve the problem of choice.

3. Marginal utility is not very important concept in the theory of
demand.

4. The law of demand states that the quantity demanded and the
price of commodity are inversely related.

5. Market demand doesn’t depend on the number of consumers in
the market.

3. [IncbMeHHO 0TBEThTE HA BOMPOCHI K TEKCTY.

1. What factors influencing consumer demand are assumed con-
stant?

2. What is the principle assumption of the demand theory?

3. How should the consumer allocate his income?

4. What is market demand?
5. In what way does market demand differ from individual de-
mand?

4. IlepeBenuTe NUcbMeHHO 3-ii 1 4-ii a03anbI TeKcTA.

5. CootHecute TepMMH ¢ ero ToJkoBaHueMm (Give the

definition).
1) demand a) the qmount spent for payment of goods and
services

2) income b) a list of all planned expenses and revenues

¢) an economic principle describing the desire
to buy something

4) budget d) objects produced for market

e) money that is earned from job or received
from investments

3) expenditure

5) goods

6. Ilpouunraiite u mepeseaurte npenio:xeHusi. [loctaBbTe MO-
AajabHble riarojbl B Past Simple nim Future Simple Tense.

1. A buyer can maximize utility but he prefers to have less rather
than more. (Past Simple)

2. We must know the effect of a price change on the whole output
for making economic forecasts. (Future Simple)

3. The consumer has to solve the problem of choice. (Past Simple)
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4. Not all partners in a firm must take an active part in manage-
ment. (Past Simple)

5. Provided additional inputs are to be obtained, producers must
have smaller risks of a fall of price. (Future Simple)

7. IlpouynTaiiTe 1 MUCELMEHHO NepPeBeIUTE NP eNI0KEHUs.

IMoxuepkHUTEe HHPUHUTHB, ONpeaeUB ero GyHKIHIO B Mpe-
JIOJKEeHHH.

1. He ought to take a more active part in decision making on the
exports strategy of the company.

2. To do this is practically impossible.

3. They expected to have chosen a good project.

4. Importers often must obtain an import license.

5. The demand theory assumes that the consumer having budget
constraint wants to maximize utility.

8. IlepeBenuTe MUCHMEHHO MpeENJIOKEHNsI, 00paIasi BHUMAaHUe
HA CJI0BA C OKOHYAHUEM -ing.

Onpenenure, KAaKOil YaCTHI0 peYd OHU ABJISIIOTCS.

1. Large quantities of one good may be needed for compensating
small reduction in the other good.

2. Having the aim to maximize profit, the producer should make a
decision how to reduce inputs.

3. Ibought a new bicycle instead of going away on vacation.

4. Tt is the additional utility obtained from consuming an additional
unit of the good.

5. Geographic area as the second characteristic of a market is also
of importance for describing markets.

9. PackpoiiTe cko0KkH, yNoTpeOUB HYKHYI0 (popMy nmpuyacTus
(Participle I unu Participle II).

IIncsMeHHO MepeBeuTe MPeII0KEHH .

1. In a dynamic economy, the factors (to influence) the level of
demand and supply, are changing.

2. Expenditure is an amount of money (to spend).
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3. The price of land (to call) rent depends on supply and demand.

4. The economist is interested in factors (to affect) the allocation of
resources for producing particular goods.

5. At constant prices, an increase in income leads to an (to in-
crease) consumption.

10. IlepeBenuTE TEKCT € PYCCKOro sI3bIKA HA AHIJIMHACKHIA, HC-
MOJIL3Ysl CJI0BA B CKOOKAX.

Crpoc (demand) — 3T0 3aBHCHUMOCTHh MEXIYy IICHOW TOBapa W €ro
KOJIMYECTBOM, KOTOpO€ ToKynarenu (buyers) XOTAT U MOTYT NMpUoOpe-
ctu. O6beM crpoca (quantity demanded) — xonwyecTBO TOBapa HIIN
yCIyT, KOTOpOEe OY/ET KYIUICHO 10 OMPEeICHHO [IeHe 3a ONpe/eicH-
HBIH nieproa. ['paduueckoe n300pakeHNE B3aUMOCBS3H IICHBI TOBapa U
BEJIMYUHBI €ro CIpoca Ha3bIBaeTcsl KpuBoW crpoca (demand curve).
CHmwxenue neHbl (price decrease) Ha TOBap BEJACT K BO3PACTaHUIO
cnpoca (demand increase) Ha 3TOT TOBap W, HA0OOPOT, yBEITHMUCHHUE
IIEHBI Ha TOBAp BEJIET K yMeHbIeHuto (reduction) cnipoca. Heobxomu-
MO pa3inyaTh HHIUBUAYAJIBHBIA U pEIHOUHEIN cripoc (market demand).

II BAPUAHT

1. IpouuTaiiTte TekcT, oOpamas BHUMaHue Ha cHocku (Notes).
Bblyuure cioBa K TEKCTY HAM3YCTh.

The Business Partnership

1. Business is a commercial enterprise performing all those func-
tions that govern the production, distribution, and sale of goods and
services for the benefit of the buyer and the profit of the seller. The ex-
isting forms of business organization enable various branches of indus-
try to adapt to changing conditions and to function more efficiently and
profitably. The main three forms of business ownership are sole pro-
prietorship, a partnership, and a corporation.

2. When a proprietor wants to expand the business, one way to do
so is to form a partnership, a business formed for profit by two or more
co-owners. The rights and duties of a partnership are regulated by laws
of the state where it is formed and by a legal agreement entered into by
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the co-owners. Usually an agreement specifies the amount of money
each is investing and the duties each partner assumes. A partnership
agreement also may provide for a «silent partner» who does not take
part in the management, but who invests money in the business.

3. The partnership has the advantage of pooling, managerial talent.
One partner may be qualified in production, another in marketing. The
partnership, like individual ownership, is exempt from most of the re-
porting that the government requires of corporation. Furthermore, it
has a favourable tax position when compared with the corporation.
Federal taxes are paid by individual partners on their share of earnings;
beyond that the business is not taxed.

4. A major disadvantage of the partnership is that each member is
liable for all the debts of the partnership; the act of any partner is legal-
ly binding upon all the others. If one partner takes a large amount of
money from the business and squanders it, the others must pay the
debt. Partnerships suffer another major disadvantage: decision-making
is shared. If partners have serious disagreements, the business is bound
to suffer. Nevertheless, the partnership remains a vital part of the over-
all business economy. Partnerships dominate in such professions as
law, accountancy, medical services, real estate business and so on.

Notes:

partnership TOBapHILECTBO, TAPTHEPCTBO

to form a partnership OpraHU30BBIBATh, CO3/aTh MAPTHEPCTBO
co-owner COBJI/IETIeII

rights and duties mpaBa 1 00513aHHOCTH

agreement COTJIAIICHUE, OTOBOP

amount KOJINYECTBO

to assume MpUHUMATH Ha ce0s1, OpaTh Ha ceOs
«silent partner» MACCUBHBIN MapTHEP

to take part in something  mpUHUMATh B YEM-TO ydacTHe
management YIPaBIICHUE, MCHEPKMEHT
ownership COOCTBEHHOCTD, BJIaJICHUE

exempt from 0CBOOOXKICHHBIH OT

share of earnings T0J1s1 3apaboTKa

beyond CBEpX, BHE, CBHIIIIC

major TJIaBHBIH, 00Jiee BaXKHBIN

liable for OTBETCTBEHHBIN 3a YTO-TO
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debt JOJT
to bind upon CBSI3BIBATH, MIEPETUICTATHCS C
to squander pacrodars, MpoMaThIBaTh

2. [oaTBepANTEe WJIH ONPOBEPTHUTE BHICKA3BIBAHUS OTHOCH-
TeJIbHO COJIeP’KAHMSI TEKCTA M HCNPABbTe HEBEPHbIE YTBEPIKIEHHUSI
(True/False/Non stated).

IIpenJiosxkeHns nepeseauTe.

1. Business is an enterprising entity engaged in commercial, indus-
trial or professional activities.

2. The rights and duties of a partnership are regulated only by a le-
gal agreement between the co-owners.

3. Individual partners are taxed on their share of earnings.

4. Decision making is shared.

5. The partnership plays an important role in the overall business
economy.

3. [lucbMeHHO OTBETHTE HA BOMPOCHI K TEKCTY.

1. What kinds of business ownership are there?

2. What specifies the amount of money each co-owner is investing?

3. What does a «silent partner» do?

4. What is the member of the partnership liable for?

5. Are federal taxes paid by individual partners on their share of
earnings or not?

4. IlepeBennTe NMUCLMEHHO 2-if U 3-i a063a1bI TEKCTA.

5. CooTHecuTe TepMuH ¢ ero TojikoBanueM (Give the definition).

1) ownership a) money borrowed

2) tax b) exclusive right of possession

3) entrepreneur ¢) form of property that is owned by a person
or company

4) debt d) E epsc;rson who organizes and manages a busi-

e) a sum of money demanded by a government

5) assets for its support
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6. IlpouunTaiiTe U MepeBeIUTE NP EIT0KEHUSI.

IMocTtaBbTe MoaaJbHbIe TJaroabl B Past Simple wiu Future
Simple Tense.

1. Small businesses can grow into large ones. (Future Simple)

2. Your father says that you may go into business. (Past Simple)

3. The companies selling on the overseas market must be competi-
tive. (Future Simple)

4. An individual businessman can make decisions quickly without
having to consult others. (Past Simple)

5. If you want to start a business, you are to know some definite in-
formation about it. (Past Simple)

7. IlpouynTaiiTe 1 MUCbLMEHHO NepPeBeIUTE NP eNI0KEHUsI.

MoxuepkHUTEe MHOUHUTHUB, ONpeNeHB ero (GyHKIHIO B Tpe/-
JIOJKEeHHH.

1. Iregret to inform you that your application has been rejected.

2. It was kind of you to lend me your laptop.

3. He deserves to be sent to prison.

4. During the business lunch they couldn't help laughing.

5. To develop new information technologies is of prime im-
portance for those countries that wish to lead in the world economy.

8. IlepeBenuTe MUCHMEHHO MpeENJIOKEHHs], 00palasi BHUMaHUe
HA CJI0BA C OKOHYAHUEM -ing.

Onpenennre, KAaKOil YaCTHI0 peYd OHU ABJISIIOTCS.

1. You are proud of being a docker, aren't you?

2. Working in a team implies sharing responsibilities, losses and
profit, rights and duties.

3. It has a fascinating past, but the future will be better.

4. They postponed leaving.

5. Let’s speak about the advantages and disadvantages of exporting
and importing.

9. PackpoiiTe cko0KkH, yNoTpeOUB HYKHYI0 (popMy nmpuyacTus
(Participle I unu Participle II).

IIncsMeHHO MepeBenTe MPeII0KEHH .

1. When (to ask) important questions, he frowned and answered
silly things.
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2. (To know) that their resources are limited, people make a deci-
sion how to allocate them in the best possible way.

3. (To enter) the building, he headed for the main office.

4. When (to take) the decision I made a mistake.

5. This is the best method that can (to use) in order to compare the
productivity of capital in different industries.

10. ITepeBeuTe TEKCT € PYCCKOro sI3bIKa Ha AHIJIMICKUIA, HC-
MOJIB3Ysl CJIOBA B CKOOKAX.

Ha Bayrpennem poiake (domestic market) cTpaHbl B POIIIIOM TOY
MOSIBUJIOCH MHOTO KOHKYPEHTOB (competitors). [IpuanHa 3T0TO B TOM,
9YTO MHOTHE MHOCTpaHHbIEe (foreign) KOMITaHUHM OTKPBIBAIOT CBOM OM3-
Hee (to go into business) B Poccum ceiivac. HecMoTps Ha TO, 4TO UM-
MOPTHBIE TOBAPHI IOPOTHE, U3-32 MX Ka4eCTBA OHU KOHKYPEHTOCIIOCO0-
HBI (competitive). B Oymymem kommanuu-nponsBoanTeny (manufactur-
ers) Ha4HyT pacimpATh (to expand) IPOU3BOJACTBO CBOMX TOBapoB. I1o-
ATOMY ONTOBBIe mpennpusaTus (wholesalers) n3ydaioT cnpoc Ha BHEII-
HeM poiHKe (international market). Hamm ToBapsl ¢CMOTYT KOHKYPHPO-
BaTh CO CBOMMH COIEpHHKaMH (rivals) 3a pyOeXoM W 3aBOIOIOT CBOMX
KJIUCHTOB.

III BAPUAHT

1. IpouuTaiiTte TekcT, oOpamas BHUMaHue Ha cHocku (Notes).
Bblyuure cioBa K TEKCTY HAM3YCTh.

Theory Of Supply

1. The theory of supply is the theory of how much output firms
choose to produce. The principle assumption of the supply theory is that
the producer will maintain the level of output at which he maximizes his
profit.

2. Profit can be defined in terms of revenue and costs. Revenue is
what the firm earns by selling goods or services in a given period such
as a year. Costs are the expenses which are necessary for producing and
selling goods or services during the period. Profit is the revenue from
selling the output minus the costs of inputs used. Costs should include
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opportunity costs of all resources used in production. Opportunity cost
of a commodity is the amount obtained by an input in its best alternative
use (best use elsewhere). In particular, costs include the owner’s time
and effort in running a business. Costs also include the opportunity cost
of the financial capital used in the firm.

3. Aiming to get higher profits, firms obtain each output level as
cheaply as possible. Firms choose the optimal output level to receive the
highest profits. This decision can be described in terms of marginal cost
and marginal revenue. Marginal cost is the increase in total cost when
one additional unit of output is produced. Marginal revenue is the corre-
sponding change in total revenue from selling one more unit of output.

4. As the individual firm has to be a price-taker, each firm’s mar-
ginal revenue is the prevailing market price. Profits are the highest at
the output level at which marginal cost is equal to marginal revenue,
that is, to the market price of the output. If profits are negative at this
output level, the firm should close down.

5. An increase in marginal cost reduces output. A rise in marginal
revenue increases output. The optimal quantity also depends on the out-
put prices as well as on the input costs. Of course, the optimal supply
quantity is affected by such noneconomic factors as technology, envi-
ronment, etc.

6. Making economic forecasts, it is necessary to know the effect of
a price change on the whole output rather than the supply of individual
firms. Market supply is defined in terms of the alternative quantities of a
commodity all firms in a particular market offer as price varies and as
all other factors are assumed constant.

Notes:

supply MPEITI0KEHUE

output MPOAYKITHS, 00BEM MPOU3BOICTBA
profit MPHUOBLTB, TOXOT

revenue TOXO0]

costs HU3JIEPIKKH, PaCXObl

marginal costs MpeaeNTbHbIC U3ACPIKKA
opportunity costs aJIbTEPHATUBHBIC U3JAEPKKHA
expenses 3aTparkl, U3ACPKKH

to prevail npeodnasaTh
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to obtain MOJTy4aTh, JOOUBATHCS

to be a price-taker MPUHUMATD CIIOKUBIITHECS
Ha PBIHKE LCHBI

commodity TOBap, MPOAYKT

assumption MIPEIIOTI0KESHUE

to receive MOJTy4aTh

total IIOJIHBIH, OOIINI

corresponding COOTBETCTBEHHBIN

to offer (smth. to smb.) npearathb (4To-JI. KOMy-J1.)

amount KOJIMYECTBO, CYyMMa, 00BEM

in particular B 0COOCHHOCTH

2. [MoaTBepANTE WK ONPOBEPrHUTE BBHICKA3ZLIBAHUS OTHOCH-
TEJILHO COMEP:KAHUsI TEKCTAa W HCNPaBbTe HEBEPHbIE YTBepPKIeHUsI
(True/False/Non stated).

IIpenJioxkeHns nepeseaure.

1. Costs are necessary for producing and selling commodities.

2. Firms want to get high profits.

3. Marginal cost is the decrease in opportunity costs when corre-
sponding unit of output is produced.

4. At the output level marginal cost is equal to market price of the
output.

5. Optimal supply quantity is not affected by technology, society
and environment.

3. [lucbMeHHO O0TBETHTE HA BOMPOCHI K TEKCTY.

1. What is the principal assumption of the supply theory?

2. What is the difference between profit and revenue?

3. How do firms get maximum profits?

4. When are profits the highest?

5. What is the relationship between marginal revenue, marginal
cost and output?

4. IlepeBennTe MUCLMEHHO 2-if U 3-ii a63a1bI TEKCTA.
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5. CooTHecuTe TepMuH ¢ ero TojikoBanueM (Give the definition).

1) quota a) expenses
2) supply b) :fl;seict of making products, goods and ser-
3) costs ¢) progressive increase in prices
4) production d) an amount of something available for use
e) a proportional part of a fixed total amount or

5) inflation quantity

6. IlpounTaiiTe U NepeBeUTE MPEIT0KEHUS.

IMocTaBbTe MoaajbHbIe TJaroabl B Past Simple wiu Future
Simple Tense.

1. They must be more careful. (Past Simple)

2. You may not talk loudly at the meeting. (Past Simple)

3. People from poor countries can’t go elsewhere looking for high-
er incomes. (Future Simple)

4. The firm can select the output level maximizing its profit. (Past
Simple)

5. There are a lot of factors in agriculture that must be assumed as
risks by the farmers. (Future Simple)

7. IlpouynTaiiTe 1 MUCbLMEHHO MepPeBeIUTE NP eNI0KEHUsI.
MoxuepkHUTEe MHOUHUTHUB, ONMpeNeHB ero (PyHKIHIO B Tpe/-
JIOJKEeHHH.
1. He intended to finish his work last night.
I'd rather start my own business than work for somebody else.
Do you want to understand how firms make output decisions?
To calculate the costs is very important.
We are looking for new business partners to join our company.

ke

8. IlepeBeIuTe MUCHLMEHHO TPEIIOKEHHUs], 00palias BHUMAaHUe
HA CJI0BA C OKOHYAHUEM -ing.

Onpeennre, KAKOH YacThIO peYd OHH SIBJISIIOTCS.

1. She apologized for being late.
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2. After receiving the telex he started for New York.

3. The advantage of wearing a uniform is that its color marks out
your place in the hierarchy.

4. Did you find any difficulty in solving this problem?

5. He regrets being unable to help.

9. PackpoiiTe cko0KkH, ynoTpeOUB HYKHYIO (popMy nmpuyacTus
(Participle I unu Participle II).

IMucbMeHHO epeBeNTe MPEAT0KEHHS.

1. (To vary) input, the firm can vary output.

2. There was an increase in the quantity of gas (to produce) last
year.

3. The work of a farmworker and a nurse are measured in terms of
payment (to receive).

4. (To impose) some restrictions on food prices, governments
make it possible for all the people to buy enough food.

5. Firms (to produce0 computers act as buyers in the markets for
the services of computer programmers.

10. IepeBeauTe TEKCT ¢ PYCCKOro SI3bIKA HA AHIJIMICKHUIH, HMC-
MOJIb3Ysl CJIOBA B CKOOKAX.

[pennoxenue (supply) — 3TO B3aUMOCBS3b MKy IIEHOH TOBapa u
€ro KOJIMYEeCTBOM, KOTOPOE MPOaaBIibl (sellers) XoTsT 1 MOTYT IpoaaTh.
I'padmyeckoe H300pakeHUE MIKATIBI MPEIIOKEHHUS HA3bIBACTCS KPUBOM
npeanoxenus (supply curve). IToT rpaduK HaArJIsSAHO JEMOHCTPUPYET
B3aMMOCBSI3b [ICHBI U BEJIMYMHBI TipeiokeHus (quantity supplied). On-
HUM M3 OCHOBHBIX JJIEMEHTOB KPHUBOW MPETIOKEHHS SBISIOTCS W3-
JIePKKH TPOU3BOJICTBA (costs). B pe3ynbrate B3anmMoIeicTBHs crpoca
(demand) u mpeIoKEHNUS yCTaHABJIMBAETCS PHIHOYHAS IieHa (market
price). I'padmyeckn oHa (GUKCHPYETCS B TOUYKE NMEPECCUCHHUS KPUBOM
cnpoca (demand curve) U KpUBOU MPEITIOKCHHMS.

16



KonTpoabnas padora Ne 2
(17151 HHKEeHEPHBIX CIEeMAJIbHOCTEN)

I BAPUAHT

1. [IpounTaiiTe TEeKCT, OOpalasi BHUMAaHNEe HA CHOCKH. Bolyuu-
Te CJIOBA K TEKCTY.

From The History Of Bridge And Timber Technology

1. For hundreds of years men have built bridges over fast-flowing
rivers or deep and rocky canyons. Early man probably got the idea of
a bridge from a tree fallen across a stream. From this, at a later stage,
a bridge on a very simple bracket or cantilever principle was evolved.
Timber beams were embedded into the banks on each side of the river
with their ends extending over the water. These made simple supports
for a central beam reaching across from one bracket to the other. Bridg-
es of this type are still used in Japan, and in India. A simple bridge on
the suspension principle was made by early man by means of ropes, and
is still used in countries such as Tibet. Two parallel ropes suspended
from rocks or trees on each bank of the river, with a platform of woven
mats laid across them, made a secure crossing. Further ropes as hand-
rails were added. When the Spaniards reached South America, they
found that the Incas of Peru used suspension bridges made of six strong
cables, four of which supported a platform and two served as rails.

2. All these bridges made possible crossings only over narrow riv-
ers. The type of temporary floating bridge, the pontoon bridge, has been
used for military purposes; military engineers can construct a temporary
bridge on this principle, able to carry all the heavy equipment of a mo-
dem army, in an extremely short time. The idea of driving wooden piles
into the bed of the river in order to support a platform was put into prac-
tice 3,500 years ago. This is the basis of the «trestle» or pile bridge
which makes it possible to build a wider crossing easier for the transport
of animals and goods. Most of bridges were made from timber.

3. Rapid development of timber technology was in the 19th century
in North America. It was explained large softwood fir's forests and pine
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trees. There they were used as industrial methods. Steam- and water-
powered sawmills began producing I standard-dimension timbers in the
1820s. The production of cheap machine made nails in the 1830s.
It provided other necessary ingredient — a balloon frame. That made
possible a major innovation in building construction. The first example
was a warehouse erected in Chicago in 1832 by George W. Snow. There
was a great demand for small buildings of all types settled on North
American continent. Light timber frame provided a quick, flexible, in-
expensive solution to this problem. Heavy timbers and complex joinery
were abandoned in the balloon frame system. The building walls were
framed with 5 x 10-centimetre (2 x 4-inch) vertical members. They
were placed at 40 centimeters (16 inches) from the centre. This supplied
a roof and floor joists, usually 5 x 25 centimeters (2 % 10 inches) and
placed 40 centimeters (16 inches) apart and were capable of spanning
up to six meters (20 feet).

Notes:

a bridge on a bracket
or cantilever principle KOHCOJIbHBIA MOCT
a bridge on the suspension principle  Bucsumii (TIOABECHOIT) MOCT

handrails MOpYYHU

a floating bridge MOHTOHHBIA MOCT

a «trestle» or pile bridge MOCT Ha paMHBIX OCHOBax
sawmills JIECOTIFITKA

joinery CToJIsIpHast paboTa

to be abandoned OBITH OCTaBJICHHBIM

joists Oanku

spanning up OXBaT

warehouse ckiaz (TOBapoB)

frame CTPOCHHUE, KOHCTPYKITUS

to settle on 00OCHOBBIBATHCS

flexible THOK M

to erect yCTaHaBJIMBAaTh, COOPYXKATh
equipment CHapsDKeHHe, 000pyIOBaHUE
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2. [loaTBepANTE WM ONPOBEPrHUTE BBHICKA3ZBLIBAHUS OTHOCH-
TEJIbHO COJeP:KAHUSI TEKCTA, UCNPABbTEe HEBePHbIE YTBEP:KIECHHUsI
(True/False/Not stated).

IIpenJiosxkeHns: mepeseauTe.

1. For hundreds of years men have built bridges only over can-
yons.

2. Timber beams embedded on each side of the river evolved a
bridge on a bracket.

3. Bridges on cantilever principle are still used all over the world.

4. Early men used ropes for making simple bridge on the suspen-
sion.

5. The pontoon bridges were put in practice 3,500 years ago.

3. [IucbMeHHO OTBETHTE HA BOMPOCHI K TEKCTY.

1. Why have men built bridges for hundreds of years?

2. How was a bridge on a very simple bracket or cantilever princi-
ple evolved? Where is it still used?

3. How was a simple bridge on the suspension principle made by
early man? Where is it still used?

4. What kind of bridge has been used for military purposes?

5. What does the «trestle» of pile bridge make possible to transport?

4. IlepeBenuTe NucbMeHHO 1-H a03al TekcTa.

5. CooTHecUTEe TEPMHH C €r0 TOJIKOBAHUEM.

1) mat a) a lot of similar things put one on top of the other

2) handrails b) a piece of thick material which covers part of a
floor, table, etc.

¢) planks of wood or another material that we need

3) cables )
for save moving

4) equipment  d) a plastic or rubber tube, containing wires

5) pile e) the things that are used for a particular activity

6. IlpouunTaiiTe U MepeBeTUTE NPEIT0KEHHS.

IMocTaBbTe MOJAIBHBII IJ1AT0J WIN €r0 IKBUBAJIEHT B HY:KHOM
BpeMenu (Present, Past or Future).

1. There (may be) little doubt that the story of bridge building was
the story of civilization some decades ago.

19

2. Military engineers (can) construct a temporary bridge on canti-
lever principle in a few months.

3. Being planned on sound engineering techniques highways
(must) create safety for transport system in future.

4. A modern bridge (have to) demand greater skill from designer
and builder than any other civil engineering project several years ago.

5. The designer (have to) calculate carefully how the various loads
will be distributed.

7. IlpounTaiiTe H MUCHLMEHHO TEPEBEUTE MPeII0KEHHS.

IMoagyepkHUTEe HHPUHUTHUB, ONIPeIeUB ero PyHKIHIO.

1. One of the earliest attempts to propel a vehicle by mechanical
power was suggested by Isaac Newton.

2. It is necessary to select materials, a type, a size and a configura-
tion to carry loads in a safe and serviceable fashion.

3. The ancient Greeks were probably the first to make up a list of
Seven Wonders.

4. The architects and engineers mobilize the resources needed to
realize the final structure.

5. In order to create a work the architect must project an integra-
tion of the whole.

8. IIpouuTaiite ¥ NMUCLMEHHO NepeBeIUTE MNpPeNJI0KEeHHsI, 00-
paimasi BHUMaHUe HA —ing OKOHYAHHeE.

Onpenennre, KAaKOil YacThI0 peYd OHU ABJISIIOTCS.

1. Every engineer knows an environmental system, including heat-
ing, ventilating and air conditioning.

2. Technical solutions include supercharging, turbocharging, tim-
ing and direct injection.

3. Panel heating is a method of introducing heat to rooms, conceal-
ing it to floor, walls and ceiling.

4. Both in the past and today the designers work at the problem of
getting tower specific fuel consumption.

5. Rising the pressure means rising the temperature.
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9. PackpoiiTe cko0KkH, ynoTpeOUB HYKHYIO (popMy nmpuyacTus
(Participle I unu Participle II).

IMucbMeHHO epeBeNTe MPEAT0KEHHS.

1. Gasoline engines have no ignition system (feeding/fed) with
electricity.

2. The fuel is ignited (contacting/contacted) with very hot air in the
cylinder.

3. The word automobile (taking/taken) from the Greek means
«self-moving».

4. Many antique cars (collecting/collected) and (exhibit-
ing/exhibited) by special clubs are sold as rare models.

5. Transportation is a system (consisting/consisted) essentially of
three components: driver, vehicle and road.

10. IlepeBeanTe TEKCT ¢ PyCCKOr0 A3bIKA HA AHTJIMIICKUI, HC-
noJib3ysl cJeAyIollue cJoBa: a tree falling across a stream, a bridge
on a bracket, a bridge on the suspension principle, a floating bridge, for
military purposes, transportation of animals and goods.

UYenoBek CTPOUT MOCTHI YK€ COTHHM JIET. Mnest mocTpoeHus nepBoro
MOCTa, BEPOATHO, BO3HUKJIA B PE3yJbTaTe MaJCHUs JEpPeBa Yepe3 peKy.
Tak nosBuIICsS NEpPBBIA KOHCONBHBIM MOCT, KOTOPBI BCE €IIle MCIIOJb-
3yercs B Slnonnn u Uuagnu. [Ipu momomm BepeBOK oOpa3oBasics MO-
BECHOI MOCT, HCITOJIb3yeMbIil HbiHe B TuOeTe. [IOHTOHHBIE MOCTBI OBLITH
M300peTeHbl B BOCHHBIX IEISX IS MEPENpaBbl TSHKEIOTo 000pyaoBa-
HUS, @ TAK)KE TPAHCIIOPTUPOBKH KUBOTHBIX U TOBApPOB.

II BAPUAHT

1. IlpounTaiiTe TeKCT, OOpamasi BHUMaHHe HA CHOCKH. Bbryun-
Te CJI0BA K TEKCTY.

Air Pollution And Smog Are The Problems Of Modern Cities

1. The word smog comes from smoke and fog. Smog is a sort of fog
with other substances mixed in. Smog has been here a long time. Bil-
lions of years ago, volcanoes sent millions of tons of ash and smoke into
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the air. Winds whipped up dust clouds. Animal and vegetable matter
decayed, adding polluting gases.

2. When people came along, they began to produce their own kind
of air pollution. They discovered fire. In the Middle Ages, people in cit-
ies such as London used soft coal to heat their homes. The smoke from
these fires, combined with moisture in the air, produced dense layers of
smog. The smog would blanket the city for days, particularly in winter.
The heat generated in large cities tends to circulate air within a dome-
like shape. This traps the smog and holds it over the city.

3. Smog, and the chemicals and other substances in it, can be harm-
ful, even deadly. Smog blurs vision. It irritates the eyes, the throat, and
the lungs. Eyes water, throats get sore, people cough. Smog can make
people ill. And it can make sick people sicker. Air pollution has been
linked to eczema, asthma, emphysema, cardiovascular difficulties, and
lung and stomach cancer. It also has a harmful effect on the environ-
ment. Food crops and animals suffer. Paint may peel from houses. It is
obvious that we must do everything possible to reduce man-made at-
mospheric pollutants and smog. Smog, along with smoke, is the most
visible evidence of atmospheric pollution. But some atmospheric pollu-
tion is not visible and may not become visible until it is mixed with
moisture. Lead compounds from leaded gasoline, hydrocarbons (un-
burned gasoline), carbon monoxide, and other gases may pollute the air
without being seen. All air is polluted to some extent. That is, all air car-
ries some polluting substances. Much of it is natural: smoke and ash
from volcanoes, dust stirred up by the wind, compounds given off by
growing vegetation, gases given off by rotting animal and vegetable
matter, salt particles from the oceans, and so on.

4. In addition, most fuels, such as coal, gasoline and wood, contain
hydrogen, and carbon in various chemical combinations. During com-
bustion oxygen unites with the hydrogen and carbon to form water H,O,
carbon monoxide CO and carbon dioxide CO,.

Notes:

polluting gases 3arpA3HSIONINE Ta3bl
to whip up B30MBAThH

ash 3071a

coal yTOJIb
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to combine with
dense layer

to generate
dome-like shape
to irritate

COCIIUHATH C YeM-JIN0O
TCyCTOW CJIOU
MPOU3BOJAUTH
KymoJjiooOpa3Has popma
pasapaxatb

cardiovascular CEepIEeYHO-COCYIUCTHIN
stomach cancer paK xemyaka
man-made HCKYCCTBEHHBIN
moisture BJIQXKHOCTD

lead compounds COCIMHEHUE CBUHIIA
gasoline OcH3MH

to stir up BBI3BIBATh

particles YaCTHIIBI

carbon yraepon

2. [oaTBepANTEe WM ONPOBEPTHUTE BHICKA3LIBAHUS OTHOCH-
TEJIbHO COJeP:KAHUSI TEKCTA, UCNPABbTe HEBEPHbIE YTBEP:KIECHHUSI
(True/False/Not stated).

IIpenJioxkeHuns: mepeseauTe.

1. Smog is a sort of fog with ash, smoke, animal and vegetable
matter mixed in.

2. The heat generated in large cities tends to circulate air within a
dome-like shape and holds it over the city.

3. Smog and chemicals can be harmful, but not deadly.

4. Air pollution has been linked to all infectious diseases.

5. Atmospheric pollution is visible in any way.

3. [IncbMeHHO 0TBEThTE HA BOMPOCHI K TEKCTY.

1. How did people begin produce their own kind of air pollution?

2. Why can smog, chemicals and other substances be harmful for
people?

3. What illnesses does air pollution cause?

4. In what way does air pollution effect on the environment?

5. What natural polluting substances does air carry?
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4. IlepeBenuTe NUCcbMeHHO 3-H a03al TekcTa.

5. CooTHecUTEe TEPMHH C €r0 TOJIKOBAHUEM.
1) volcano a) suffering from diseases and illnesses
2)todecay  b) to make a part of a body painful and sore
¢) to make air come out from a throat with a sudden
short sound
4)to cough  d) to be slowly destroyed usually by natural processes
. ¢) a mountain that sometimes explodes and make
5) sick
smoke

3) to irritate

6. IlpounTaiiTe U mepeBeTUTE NPeEIT0KEHUSI.

IMocTaBbTe MOJAIBHBII IJ1AT0J WJIN €r0 IKBUBAJIEHT B HY:KHOM
BpeMenu (Present, Past or Future).

1. Experts estimate that in 21% century we (can) go by rocket from
New York to Tokyo in 30 minutes.

2. People of the Old Stone Age (have to) find some warm and dry
place to shelter from bad weather.

3. Primitive stone structures, huts and tents (may) serve as proto-
types for structures of later historic times.

4. Within the next 2 or 3 decades we (can) reach any point on the
globe through deep tunnels on the Earth.

5. Many fine old buildings like churches and cathedrals (need) to
be restored.

7. IlpouynTaiiTe 1 MUCELMEHHO NepPeBeIUTE NP eII0KEHNSI.

IMoauyepkHuTEe HHPUHUTHUB, ONIPeIeUB ero PyHKIHIO.

1. The problem to be solved was to make the wheels lighter and
keep them strong.

2. In Russia the tsar’s government decided to invite foreign engi-
neers to submit projects for building railways.

3. The first to perfect gasoline engine was N.Otto who introduced
the four stroke of operation.

4. Tt is obvious that we must do everything possible to reduce man-
made atmospheric pollutants and smog.
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5. Heating and ventilation circulate to produce a desired tempera-
ture for maintaining comfort of the beings.

8. IIpouuTaiite ¥ NMUCLMEHHO NepeBeIUTE MNpPeNI0KEeHHUsI, 00-
paimasi BHUMaHUe HA —ing OKOHYAHHeE.

Onpenenure, KAaKOil YaCTHIO peYd OHU ABJISIIOTCS.

1. Dams are used to prevent flooding.

2. In winters the Dutch people use the frozen canals for ice-
skating.

3. Preventing farms and cotton fields from drying Egyptians al-
ways keep canals open.

4. Helicopters gain in needing very little space for taking off and
landing.

5. Vehicles carrying passengers and mail on short routes are called
helicopters.

9. PackpoiiTe cko0KkH, ynoTpeOUB HYKHYIO (popMy nmpuyacTus
(Participle I unu Participle II).

IMucbMeHHO epeBenTe MPeAI0KEHH .

1. Jet-propelled aircraft (introducing/introduced) in 1950 are valu-
able for emergency medical work.

2. The equipment (needing/needed) for observation was transport-
ed by plane.

3. (Using/Used) special device they increased the speed of this par-
ticular engine.

4. (Burning/Burned) coal, oil, gasoline and gas mankind make at-
mosphere (polluting/polluted).

5. In ancient Egypt large blocks of stones (transport-
ing/transported) over long distances with the help of most primitive
equipment were used for pyramid building.

10. IepeBeuTe TEKCT ¢ PYCCKOIr0 SI3bIKA HA AHIJIMIICKHUI, HMC-
noJib3ys cJeAyllue cJoBa: mixture, animal and vegetable matter de-
cayed, polluting gases, combined with moisture in the air, be harmful.

CMoOT SIBJIIETCS CMECBIO JIbIMa C IPYTUMH BEleCTBAMUA. MUJLTHOHBI
JICT TOHHBI 30JIbI, BBIOpAchIBaCMbIC BYJIKAHAMH, PA3JIOKUBIIHECS pacTe-
HUSI U JKUBOTHBIC, XMMUYECKHE COCIAMHEHUS 00pa30BBIBAIOT 3arps3Hsi-
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oIue raspl. B coueranuu ¢ BiIaXXHBIM BO3AYXOM OHH CO3JAKOT CMOT.
OH OKYTBIBaeT TOpO/ia M SABJSIETCS TYOUTEIBHBIM KaK JUIS JIIOACH, TaK U
JUIS1 5)KUBOTHBIX.

III BAPUAHT

1. [IpounTaiiTe TEKCT, OOpalasi BHUMAaHNEe HA CHOCKH. Boryuu-
Te CJIOBA K TEKCTY.

Construction Of An Automobile

1. The primary components of a car are the power plant, the power
transmission, the running gear, and the control system. These constitute
the chassis, on which the body is mounted. The power plant includes the
engine and its fuel, the carburetor, ignition, lubrication, and cooling sys-
tems, and the starter motor.

2. The Engine. The greatest number of cars use piston engines. The
four cycle piston engine requires four strokes of the piston per cycle.
The first down stroke draws in the petrol mixture. The first upstroke
compresses it. The second down stroke - the power stroke — following
the combustion of the fuel, supplies the power, and the second upstroke
evacuates the burned gases. Intake and exhaust valves in the cylinder
control the intake of fuel and the release of burned gases. At the end of
the power stroke the pressure of the burned gases in the cylinder is 2.8
to 3.5 kg/sq. cm. These gases escape with the sudden opening of the ex-
haust valve. They rush to a silencer (muffler), an enlarged section of
piping containing expanding ducts and perforated plates through which
the gases expand and are released into the atmosphere. Greater smooth-
ness of operation of the four-cycle engine were provided by the devel-
opment of the four-cylinder engine, which supplies power from one or
another of the cylinders on each stroke of the cycle. A further increase
in power and smoothness is obtained in engines of 6, 8, 12, and 16 cyl-
inders, which are arranged in either a straight line or two banks assem-
bled in the form of'a V.

3. Carburation. Air is mixed with the vapour of the petrol in the
carburetor. To prevent the air and the carburetor from becoming too
cold for successful evaporation of the fuel, the air for the carburetor is
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usually taken from a point close to a heated part of the engine. Modern
carburetors are fitted with a so-called float feed chamber and a mixing
or spraying chamber. The first is a small chamber in which a small sup-
ply of petrol is maintained at a constant level. The petrol is pumped
from the main tank to this chamber, the float rising as the petrol flows in
until the desired level is reached, when the inlet closes. The carburetor
is equipped with such devices as accelerating pumps and economizer
valves, which automatically control the mixture ratio for efficient opera-
tion under varying conditions.

Notes:

running gear
lubrication

intake valves
exhaust valves
expanding ducts
stroke of the cycle
carburation

evaporation

float feed chamber
spraying chamber
to pump

chassis

piston

pressure

inlet

to be equipped

to release

JIBUTaTEJIbHBIA MEXaHU3M
CMa3bIBaHUEC

BITYCKHBIE KJIAIIAHbI
BBIITYCKHBIC KJIalaHbl
pacmmpeHHble TPYOKH
X0/ TIOPIITHST

HACBHIIICHUE MTapaMu OeH3WHa,
cMeceoOpa3oBaHue
UCrapeHue

MOIUIABKOBAsI Kamepa
KaMepa CropaHus

KavaTh (HACOCOM)

maccu

MOPIIEHb

JIaBJICHUC

BIIYCKHOE OTBEPCTHUE
OBITH OCHAIIEHHBIM
0CBOOOXKIAThH

2. HOI{TBep}II/ITe HJINX OIIPOBEPrHUTE BbICKAa3bIBAHUH OTHOCH-

TEJIbHO COJeP:KAHUSI TEKCTA, UCNPABbTe HEBEPHbIE YTBEP:KIECHHUSI
(True/False/Not stated).

IIpenJioxkeHns: mepeseauTe.

1. The primary components of a car constitute the chassis on which
the body is mounted.
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2. All cars use piston engines.

3. Intake and exhaust valves in the cylinder control only the intake
of fuel.

4. Modern carburetors are fitted with float feed chamber and
spraying chamber.

5. The petrol is pumped from the float feed chamber to spraying
chamber until the inlet closes.

3. [IncbMeHHO 0TBEThTE HA BOMPOCHI K TEKCTY.

1. Name the primary components of a car.

2. What does the power plant include?

3. How does the four cycle engine work? Describe it shortly.

4. What are modern carburetors fitted with?

5. What devices control the mixture for efficient operation under
varying conditions?

4. IlepeBennTe NMCbMEHHO 2-H a03a1l TekcTa.

5. CooTHecUTe TEPMHH C €r0 TOJIKOBAHUEM.

a) putting a substance such as oil on something for
moving smoothly

b) to make liquid or gas flow somewhere continu-
ously

¢) the equipment in a vehicle that turns power from
the engine into movement

d) a substance in a form like air that you can’t see
or feel

5) to pump e) slowly disappearing

1) gear
2) lubrication
3) gas

4) evaporation

6. IlpounTaiiTe U mepeBeTUTE NPeEIT0KEHUSI.

IMocTaBbTe MOJAIBHBII IJ1AT0J WJIN €r0 IKBUBAJIEHT B HY:KHOM
BpeMeHu (Present, Past or Future).

1. The role and importance of an automobile arose from the fact
that it (can) move along roads without rails.

2. Changes in agricultural practices often (to need) to make a ma-
chine adaptable to increase its effectiveness.
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3. From ancient times a man (have to) use proper equipment for
high crop production.

4. In future the automotive engineer (may) know much more than
just mechanical engineering.

5. The design engineer (must) always know enough about the
manufacturing capabilities of the supplier.

7. IlpounTaiiTe 1 MUCbLMEHHO NepPeBeIUTE MPeII0KEeHNSsI.

IMogyepkHuTe HHGUHUTHUB, ONIPeIeTUB ero PyHKIUIO.

1. Motorists had to carry large tanks of fuel and separate spare
parts, for there were no repair or filling stations to serve them.

2. Flexibility is the ability of the engine to run smoothly and per-
form properly at all speeds.

3. Mankind has always realized that building to be completed must
not have only «conveniencey, «strengthy», but also beauty.

4. To forecast the probable shifts during and after building means
to collect undisturbed samples from various depths.

5. An engineer has to decide which building materials are more
suitable for constructing.

8. IlpouuTaiite ¥ NMUCLMEHHO NepeBeIUTE MNpPeNJI0KeHHsI, 00-
paimasi BHUMaHUe HA —ing OKOHYAHHeE.

Onpenenure, KAaKOil YaCTHIO peYd OHU ABJISIIOTCS.

1. Implementing innovations the company invented the vehicles
more concerned about pollution and the environment.

2. In deciding what type of bridge is most suitable the designer has
to consider the type and weight of the traffic and the method of erecting
the bridge.

3. The best examples of canals used for draining are found in Hol-
land, where much of the country is below sea level.

4. Tunneling is difficult, expensive and dangerous engineering
work.

5. Increasing the size and the power of ships the industrial coun-
tries can bring more raw materials for the growing population of devel-
oping countries.
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9. PackpoiiTe cko0KkH, yNnoTpeOUB HYKHYIO (popMy nmpuyacTus
(Participle I unu Participle II).

IMucbMeHHO epeBenTe MPEAT0KEHH S,

1. Although (applying/applied) for many purposes diesel engines
have certain disadvantages.

2. Airborne emissions (polluting/polluted) the environment are
hazardous for all living things.

3. Gearbox is a mechanism (regulating/regulated) the motive pow-
er of the engine transmitted to the drive wheels of the automobile.

4. The first practical internal combustion engine (burning/burned)
coal and gas was noisy and inefficient.

5. The air highly (compressing/compressed) performs the opera-
tion in the cylinder.

10. IlepeBeanTe TEKCT ¢ PYyCCKOr0 A3bIKA HA AHTJIMIICKUI, HC-
noJib3ysl CJeaywIlue cjoBa: power plant, power transmission, run-
ning gear, control system, carburetor, float feed chamber, spraying
chamber.

OCHOBHBIMH KOMITOHEHTaMH JTFOOOTO aBTOMOOWIIS SIBIISTFOTCS JIBH-
rareyib, TPAHCMHUCCHSI, XOJ0Basi 4YacTh M MEXaHW3M ymnpasieHus. Kap-
Oroparop SABJISICTCS COCTABJISIFONICH YacThIO TOIUIMBHON CUCTEMBIL. 3/1eCh
BO3JlyX CMEIIUBaeTcs ¢ mapamu OeHznHa. CoBpeMeHHbIE KapOopaTopsl
OCHAIIIEHBI C TAK HAa3bIBAEMBIMH TOIIABKOBOM KaMEpPOl M KaMepO Cro-
paHus, a TaK)Ke HACOCAaMH M KJIallaHAMH.
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KonTpoabnas padora Ne 2
(1151 OMOJIOrHYECKHUX CIIeIMATBLHOCTEN)

I BAPUAHT

1. [IpounTaiiTe TEKCT, OOpalasi BHUMAaHNE HA CHOCKH. Boryuu-
Te CJIOBA K TEKCTY.

Evolution

1. When Darwin's work «On the origin of species» was published
in 1859, one of his contemporaries wrote, «No work of our time has
been so general in its influence». Charles Darwin was really a great
naturalist, and there is no doubt that Darwinism still provides the basis
for biology.

2. The turning point in Darwin's ideas was his voyage as naturalist
on «Beagle» in 1831-36, a five-year voyage that took him round the
world. On his return, he was convinced that species could change and he
recorded in a notebook that what he had seen of South American fossils
and the animals on the Galapagos Islands had provided the «origin of all
my views». For next twenty years he patiently accumulated his facts,
filling notebooks with data and sketching out a theory of evolution.

3. Darwin’s strategy is simple. Individuals of a species show con-
siderable variation in nature, some coloured, and so on. Looking at do-
mestic animals, one can see that still more variation has been induced
by artificial selection by mankind. Therefore, is there a process of natu-
ral selection that could, over ages, gradually change a particular species
until its descendants look as different as a dachshund from a wolf? In
his studies, Darwin took the evidence of evolution and showed that the
process of natural selection was quite sufficient to have brought it about.

4. The storm that broke, once it was realised that man was also part
of this evolutionary process, is now part of history. In 1900, with the re-
discovery of the work of the Augustinian monk Gregor Mendel (1822—
84) on his breeding experiments with varieties of garden peas at Brno,
genetics (or the mechanism of inheritance) entered Darwinism. Biolo-
gists have ever since been refining the general principles that Darwin
suggested in the light of modern genetic theories. In modern times the
relationship between evolutionary theory and the classification of ani-
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mals and plants is a mainspring for taxonomy (the process of organizing
similar living things into groups or types).

Notes:

origin MIPOUCXOKICHNE
datum JTaHHBIC

be convinced yoeauThes

variation pa3Hoobpaszue

record 3anmcarthb

artificial HCKYCCTBEHHBIN
fossils MCKOTIaeMbIe OPTaHNYECKUE OCTATKA
mankind YEJI0BEYECTBO

bring about BBI3BIBATH YTO-JTHOO
induce BBI3BIBATh

monk MOHax

descendant MOTOMOK

breeding experiments OIBITHI IO BEIBSACHUIO
dachshund Takca

accumulate facts cobupaTh (pakTbI

in the light of B CBETE Yero-JIndo

2. [oaTBepANTEe WJIH ONPOBEPTHUTE BHICKA3BIBAHHS OTHOCH-
TEJbHO COJeP:KAHUSI TEKCTA, UCIPABbTe HEBEPHbIE YTBEP:KIEeHHUsI
(True/False/Not Stated).

IIpenJioxkeHns nepeseaure.

1. Ch. Darwin was a great chemist who provided the basis for ki-
netic theory of gases.

2. The turning point of Darwin's ideas was his knowledge about
the world around him.

3. For twenty years Darwin accumulated his facts, filling note-
books with data and sketching out a theory of evolution.

4. In his studies Darwin took the evidence of changing the species,
according to their natural habitat.

5. Since earliest childhood Darwin was taught to give the names to
the objects around him.
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3. [IucbMeHHO O0TBETHTE HA BOMPOCHI K TEKCTY.

1. How important was Darwin’s work «On the origin of species»?
2. What was the role of the voyage on «Beagle»?

3. How long did Darwin work at his great book?

4.  Whose experiments entered Darwin's theory later on?

5. How is Darwin’s theory of evolution used in modern times?

4. IlepeBennTe MUCLMEHHO 2-if U 3-ii a63a1bI TEKCTA.

5. CooTHecUTe TEPMHH C €r0 TOJIKOBAHUEM.

a) the sequence of events involved in the
development of a species or group of organisms

b) a taxonomic category consisting of members of a

2) basis species that differ from others of the same species
in minor but heritable characteristics.

c) a classification of organisms into groups based on
similarities of structure or origin etc.

d) the most important or necessary part of something;
foundation

e) the place where something begins, where it springs
into being

1) taxonomy

3) origin
4) evolution

5) variety

6. IlpounTaiiTe 1 MepeBeTUTE NP eEIT0KEHHSI.

IMocTaBbTe MOJAJILHBIN TJ1aroJi B Hy:kHoM BpemeHu (Present,
Past or Future Simple).

1. Last summer farmers (be able) to control the epidemic in the re-
gion.

2. If the weather is windy and rainy, hill sheep and cattle (have to)
stop grazing to look for higher grounds and a shelter.

3. Yesterday you (may) take a day off, you was very tired.

4. Im sorry, I can t come tomorrow. I (must) work late.

5. We (can't) treat our pet ourselves. We (must) take it to the vet.

7. IlpouynTaiiTe 1 MUCLMEHHO NepPeBeIUTE NP eNI0KEHUs.

MoxuepkHUTEe WHPUHUTHB, ONpeaeHB ero (PYHKIHIO B Tpe/-
JIO3KeHU M.

1. I'm very pleased to have given you all the information.
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2. To supply calves and piglets with vitamins is a very important
task for a farmer.

3. To develop proper breeding program means to obtain the off-
spring of highly productive animals.

4. He doesn't like to be interrupted.

5. Horse owners have an opportunity to choose the jockeys.

8. [lpounTaiiTe ¥ MUCLMEHHO TNepeBeAUTe NPENI0KeHHUsI, 00-
paiasi BHUMaHHe Ha CJI0BA C OKOHYAHUEM —ing.

Onpenenure, KAaKOil YaCThI0 peYd OHU ABJSIIOTCS.

1. Working at this problem, the scientists have made interesting
discoveries.

2. Her having been absent at the meeting is easily explained.

3. By listening attentively we at last understood everything.

4. Growing young animals require high-protein rations.

5. The system of growing calves on pasture is very economical.

9. PackpoiiTe cko0KkH, ynoTpeOUB HYKHYIO (popMy nmpuyacTus
(Participlel usim Participlell).

IMucbMeHHO nepeBenTe MPEAT0KEHH .

1. The farmers discussed preventive methods (recommend-
ed /recommending) by vets.

2. Animals (growing/grown) on high-protein rations develop rapidly.

3. The amount of nutrients (consuming/consumed) by the cow was
enough to provide a complete ration.

4. The bulls (bred/breeding) by this farmer will be used as sires.

5. When (selecting/selected) a commercial pet food it is important
to read the label very carefully.

10. [epeBeanTe TEKCT ¢ PYCCKOrO SI3bIKA HA AHTJIMICKHIA, HMC-
MOJIB3YSl CJIeyIolie CJI0BAa:

refine (31.) mopabarbeIBaTh
suggest npennararb
mainspring TJIaBHAS JBUXKYIIAs CHJIa
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similar CXOXKHH, TTOH0OHBIH
taxonomy TaKCOHOMMUSA

Bbuonorn npomomxarT 1opabaTeiBaTh OCHOBHBIC IPUHIIUTIBL, TIPE/I-
nokeHHbIe /lapBHMHOM, B CBETE COBpEMEHHOW Teopuu reHetuxu. Cero-
THS B3aMMOCBSI3b TEOPHH DBOJIONHMU W KIACCU(PHUKAIMHA KUBOTHBIX U
pacTeHnl ABJISETCS TJIABHOW IBHIXKYIIEH CHIION JUIsl TAKCOHOMHUU. Tak-
COHOMMS — 3TO MPOLECC OPTaHNU3AIUH CXOXKHUX KUBBIX CYIIECTB B TPYII-
IIbI ¥ THUIIBIL.

II BAPUAHT

1. [IpounTaiiTe TEKCT, OOpalasi BHUMAaHNEe HA CHOCKH. Bolyuu-
Te CJIOBA K TEKCTY.

Carl Linnaeus And His Classification Of The Natural World

1. Carl Linnaeus was the Swedish scientist who revolutionised the
system of classification of plants and who provided the basis for our
modern method of scientific nomenclature.

2. In 1735 Carl Linnaeus published the first edition of his «Systema
naturae» or compendium and classification of the natural world and in it
he included his «sexual system» for the classification of plants, by
which the flowering plants were divided into classes and orders accord-
ing to the number of the male organs and the female organs; the Cryp-
togamia were considered plants without flowers. The scheme was illus-
trated by perhaps the greatest of the early 18" century botanical artists,
George Ehert, a German who later settled in England. Ehert championed
the Linnaean method of classification in England, sometimes against
strong opposition, but over the next 80 years it gradually became the
most widely used the system in botanical works, until superseded by the
work of the great 19" century botanists.

3. Carl Linnaeus was the founder of our modern method of giving
plants and animals a binominal or two-word scientific name, the first
word distinguishing the species. Since no species of animal or plant
should have two or more different names, the correct name is as a rule
taken to be the name that was first proposed. For convenience, the
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works of Linnaeus are the internationally agreed base-line for this. The
starting point for botanical nomenclature is Linnaeus's «Species planta-
rumy, published in 1753, although there are some more recent base-
lines for fossil plants, fungi, mosses, and a few other groups.

4. In biological classification the main unite is the species. Related
species are then grouped together into genera, the genera into families,
the families into orders, the orders into classes, the classes into phyla,
and the phyla into kingdoms. This hierarchy of groups makes the han-
dling of more than a million species easier when information has to be
summarized and it is also a means of expressing the relationships of or-

ganisms.

Notes:

provide the basis

3aJIOKUTH OCHOBY

genus poxn
compendium TIOJTHBIH TTepeyucHb
distinguish OTMEuaTh, XapaKTepU30BaTh
scheme cxema

species BU

champion 3aIUIIATh

propose npejyiarath

gradually MOCTETICHHO

for convenience JUTS yioOCTBa

supersede CMEHSTh

enlarged YBEJMYCHHBIN

founder OCHOBATEJb

recent MOCJICTHUNA

signify O3HaJYaTh

fossil OKaMEHEIIbIi, HCKOIIAeMbIi
Linnaeus JIlnanen

2. HOI{TBep}II/ITe HJINX OIIPOBEPrHUTE BbICKA3bIBAHUS OTHOCH-

TeJIbHO COJIeP’KAHMSI TEKCTA M HCNPABbTe HEBEPHbIE YTBEP:KIEHHUSI
(True/False/Not Stated).

IIpenJiosxkeHns: mepeseauTe.

1. Carl Linnaeus was the first scientist who made the main changes
in system of classification of animals and plants.
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2. Plants were divided into classes and orders only according to the
number of female organs.

3. The works of Linnaeus are internationally agreed base - line for
scientific nomenclature of species.

4. In modern times the relationship between evolutionary theory and
the classification of animals and plants is a main spring for taxonomy.

5. In biological classification the main unit is the genera (species).

3. [lucbMeHHO OTBETHTE HA BOMPOCHI K TEKCTY.

1. Who revolutionized the system of classification of plants and
animals.

2. What did Linnaecus include in his first edition of Systema
naturae?

3. How did Linnaecus divide the plants?

4. What is a binominal name?

5. Give biological classification of species?

4. IlepeBennTe NMCbMeHHO 2-if 1 3-ii ad3an TekcTa.

5. CooTHecure TEPMHH C €ro TOJIKOBaAHUECM.

1) section a) taxonomic group containing one or more species
2) genus b) taxonomic kingdom including yeast
3) fungi ¢) molds, smuts, mushroom

4) classification  d) something or someone
¢) an exact copy of animal or plant created from

5) clone DNA

6. IlpounTaiiTe U NepeBeUTE MPEIT0KEHUS.

IMocTaBbTe MOIAJBHBIN IJIaroj B Hy:kHoM Bpemenm (Present,
Past or Future Simple).

1. At the last conference, I (can't) understand anything in his report

2. Tomorrow he (has to) leave because he has a lot of laboratory
work.

3. When he was retired he (can't) look after all the animals himself,
that's why he (must) hire a boy to help him.
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4. He (can't) make all the necessary calculations for this experi-
ment by the end of the month.
5. They (may) know all results after revising the tests in a week.

7. IlpouynTaiiTe 1 MUCLMEHHO NepPeBeIUTE NP eII0KEHUs.

IMoxuepkHUTEe HHPUHUTHB, ONpeAeUB ero GyHKIUIO B Mpe-
JIOJKEHHH.

1. The expedition is expected to come soon

2. We found the plant to contain 5 % of rubber.

3. The iron ore to be mined in this district is of the highest quality.

4. The ecologists are very pleased to have given you all the infor-
mation.

5. The professors to lecture at our university this year are all great
specialists.

8. IlepeBenuTe MUCHMEHHO MpeENJI0KEHHsI, 00paiasi BHUMAaHUe
HA CJI0BA C OKOHYAHUEM -ing.

Onpenennre, KAaKOil YaCTHI0 PeYd OHU ABJISIIOTCS.

1. Having arrived at the site, they discovered many fragments of
the meteorite.

2. In the vicinity of the Pole there are animals living on the ice.

3. Her being tired after this experiment is quite.

4. On arriving at the station we found out that the train had started.

5. Having been subjected to all the tests, the medicine was accepted.

9. PackpoiiTe cko0KkH, ynoTpeOUB HYKHYIO (popMy nmpuyacTus
(Participle I unu Participle II).

IMucbMeHHO epeBenTe MPEATIOKEHH .

1. (Investigating/investigated) the carriers of animals diseases, sci-
entists can develop special means of biological control.

2. Almost every cell (known/knowing) to man is microscopic in
size, that is cells can’t be observed with the (unaided/unaiding) eye.

3. The lysosome, (discovered/discovering) in the mid — 1950’s, is
a spherical, saclike body (contained/containing) a number of hydrolytic
enzymes.
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4. By the time we got home we all felt (exhausting/ exhausted)

5. The plasma membrane, sometimes (referred/ referring) to as the
cell membrane, is located at the surface of the cytoplasmic portion of
the cell.

10. [epeBeanTe TEKCT ¢ PYyCCKOrO SI3bIKA HA AHTJIMICKHIA, HMC-
MOJIB3YS CJIeyIOlIUe CJI0BAa:

main unit OCHOBHAs ¢JIMHHIIA
genera pon

order oTps

phyla THI

handle YIPaBIIATH

means CPEIICTBO

B Ononornyeckoi kiaaccuuKalyid OCHOBHOHM €AMHMICH SBIISETCS
BrJ. OTHOCATIHMECS K OJTHOMY BHJTY OCOOM CTPYIITHPOBAHBI B PO, POJ —
B CEMEICTBO, CEMEUCTBO — B OTPSJ, OTPsi — B KJIAcC, KJIaCC — B MOJI-
KJIacC, MOIKIIACC — B THUII, THIT — B TIAPCTBO. JTa UEPAPXUS TPYII TO3BO-
JISIET cAenaTh yNpaBiICHUE MULUIMOHAMHU BUJIOB JIETYE IS MOJY4CHUS
nHGOPMAIINH, & TAKKE SBISETCS CPEACTBOM BBIPAKCHUS B3aHMMOCBS3CH
OPTaHU3MOB.

III BAPUAHT

1. IlpounTaiiTe TeKCT, OOpamasi BHUMaHHe HA CHOCKH. Bbryun-
Te CJI0BA K TEKCTY.

What Is Genetic Engineering?

1. Genetic engineering (GE), genetic modification (GM) or opge-
netic manipulations — all the three forms mean the same thing, the re-
shuffling of genes usually from one species to another. Existing exam-
ples include: from fish to tomato or from human to pig.

2. A cell is the smallest living unit, the basic structural and func-
tional unit of living matter (a plant, an animal or a fungus). Some organ-
isms such as amoebae, bacteria, some algae and fungi are single-celled.

39

3. Humans are quite different and are made up tissues, organs or
structures (brain, liver, bones, skin, leaves, fruit, etc.) In an organism,
cells depend on each other to perform various function and tasks.

4. Proteins are the basic building materials for a cell giving cells the
capacity to function properly. Chromosomes mean “coloured bodies”.
They look like bundled up knots and loops of a long thin thread. They
are the storage place for all genetic information.

5. This information is written along the thin thread, called DNA.
«DNAy is an abbreviation for deoxyribonucleic acid, a specific for acid-
ic material found in the nucleus. The genetic information is written in
the form of code. When a cell multiplies it will also copy all the DNA
and pass it on to the daughter cell.

6. The information contained on the chromosomes in the DNA is
written and coded in such a way that it can be understood by almost all
living species on earth. Thus it is called the universal code of life.

7. The information for how any cell is structured or how it func-
tions is all encoded in single and distinct genes. A gene is a certain
segment of DNA with specific protein. Genetic engineering is used to
take genes and segments of DNA from one species and put them into
another species.

Notes:

gene r'eH

capacity CMOCOOHOCTH, BO3MOYXKHOCTh

modify BHJIOU3MEHSTH

the storage place XPaHUITHIIE

cell KJIeTKa

thread HUTH

living matter KUBas MaTepUs

abbreviation COKpaIIeHne

alga BOJIOPOCTTH

acid KHUCIIOTa

stacked together COCTUHCHBI

acidic KUCJIBIH

tissue TKaHb

species BHJI, 0CO0b

toper form BBITIOJTHATH

unrelated HEB3aMMOCBS3aHHBIT
40



2. [loaTBepANTE WM ONPOBEPrHUTE BBHICKA3ZBLIBAHUS OTHOCH-
TEJILHO COJEPKAHUS TEKCTAa, MCNPaBbTe HEBEPHbIE YTBepP:KIeHUsI
(True/False/Non Stated).

IIpenJiosxkeHns: mepeseauTe.

1. Genetic engineering, genetic modification or genetic manipula-
tions — these three forms have different meanings.

2. A cell is the smallest living unit, the basic structural and func-
tional unit of all living matter.

3. In an organism, cells do not depend on each other to perform
various functions and tasks.

4. Taxonomy is the process of organizing similar living things into
groups or types.

5. The totality of the genetic information of an organism is called
a code.

3. [IncbMeHHO 0TBEThTE HA BOMPOCHI K TEKCTY.

1. What are other terms for genetic engineering?

2. What kind of genetically modified food can we find today?

3. What is a cell?

4. What is the main function of chromosomes?

5. Why is the information contained in the DNA called the univer-
sal code of life?

4. IlepeBenuTe NMCbMeHHO 3—6-i1 a63a1bI TeKCTA.

5. CooTHecuTe TEPMUH C €r0 TOJIKOBAHHEM.
a) the basis structural and functional unit of all organ-

1) splice isms
2) to modif b) a part of the cell containing DNA and RNA and re-
y sponsible for growth and reproduction
3) cell ¢) any system of sings or symbols that has a meaning
4 d) cause to change; make different; cause transfor-
) nucleus mations
e) join together so as to form new genetic combina-
3) code )%[ions ¢ ¢
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6. IlpounTaiiTe u MepeBeTUTE NPEIT0KEHUSI.

IMocTaBbTE MOAAJIBHBII IJIAT0JI WJIH €70 IKBHBAJIEHT B HY)KHOM
BpeMeHH, o0paiiasi BHUMaHHe HA 00CTOSITEILCTBA BPeMEHHM.

1. If your cat is old, you (to be) to check its claws regularly as they
(may) grow too long and hurt its paw.

2. When he was a child he (can) treat his pet.

3. They (have) to translate the whole text to understand the mean-
ing of it.

4. Next lesson he (may) be late, he (must) visit a doctor.

5. A farmer (to be) to milk his cows twice a day.

7. IlpouynTaiiTe 1 MUCELMEHHO NepPeBeIUTE NP eNI0KEHUsI.

IMoxuepkHUTEe HHPUHUTHB, ONpeaeUB ero GyHKIHIO B Mpe-
JIOJKEHHH.

1. The Austrian zoologist was the first to begin studies of the
communication system between honeybees.

2. To prevent infections of cats and other animals it is necessary to
confine the animals to their home environment, avoiding exposure
sources.

3. No acceptable diagnostic tests can be used to evaluate a live dog
or cat for rabies (OenIeHCTBO).

4. Immunization is a common method used to control and prevent
diseases in human and veterinary medicine.

5. Specific tests to detect allergic antibodies to environmental al-
lergens can be undertaken to confirm the diagnosis of allergy.

8. IIpouuraiite ¥ NMUCLMEHHO NepeBeIUTE MNpPeNI0KeHHsI, 00-
paiasi BHUMaHHe HA CJI0BAa C OKOHYAHUEM —ing.

Onpenenure, KAaKOil YacThI0 peYd OHU ABJISIIOTCS.

1. The farmer keeping calves on pasture provides them with natu-
ral feed.

2. The way of keeping calves on pasture is very economical.

3. Growing corn is important for some cattle farms.

4. The growing calf requires liberal feeding.

5. Scientists are going to continue improving cattle management
system.

42



9. PackpoiiTe cko0KkH, yNOTpeOUB HYXKHYI0 (popMy NmpHUYACTHSA
(Participle I unu Participle II).

IMucbMeHHO epeBeNTe MPeII0KEHUS

1. (Growing/grown) young animals require high-protein rations.

2. Every different cell type has a characteristic appearance, when
(viewed/viewing) under the microscope.

3. The sounds (making/made) by the cats have various meanings.

4. (Investigating/investigated) the carriers of animal diseases, sci-
entists can develop special means of biological control.

5. Farmers (raising/raised) pedigree cattle must provide them all
necessary vaccinations.

10. [epeBeanTe TEKCT ¢ PYCCKOrO SI3bIKA HA AHTJIMICKHIA, HC-
MOJIB3YS CJIeyIOlUe CJI0BAa:

species BU

techniques METOIBI

shuffle CMEIINBATh

completely unrelated aGcomOTHO HECBA3aHHbBIC
cotton XJIOIIOK

rape parc

'ennast uH>XeHEpHUs] 3aHUMAETCS MOJyY€HUEM T€HOB HMJIM CErMEH-
toB JIHK y onnHoro Buaa m mepeHoca ux Apyromy Buay. Mcmonb3ys
pa3HbIe METOIbI, TeHHAsI MH)KEHEPHS JaeT BO3MOKHOCTh MPOOUTHCS de-
pe3 Oapbepsl BUaa, cMemmBas HHGOPMAIHIO, a0COTIOTHO HECBSI3aHHBIX
MEXTy COOO0M BUIOB.
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PA3JIEJI 2
Kountpoabnas padora Ne 3
(17151 IKOHOMHUYECKHUX crnenragabHocrei, FMY)

I BAPUAHT

1. Read this information for visitors to Japan.
Match the headings (1-7) with the paragraphs (a—g):
. What to wear.

. Business cards.

. Eating out.

. Greetings.

. During and after meetings.

. Talking to others.

. Before a meeting.

NN AW~

Doing Business In Japan

a. When you meet someone in Japan, it is normal to bow. However,
it’s OK to shake hands, particularly with people who work in interna-
tional companies. It’s not a good idea to hug people.

b. Always use chopsticks with your right hand. Place them on the
side of a dish after you have started eating, not on the table. And never
leave them standing in the rice bowl — it’s bad luck.

c. Your business card should state your name, company and posi-
tion in your language and (on the back) in Japanese. Always give and
receive cards with both hands. Treat other people’s cards with respect —
look at them carefully before putting them away. Never write or make
notes on them.

d. Send an agenda in advance and make it clear what the meeting is
about. Also, send any documents — translated into Japanese. Try to find
out who will attend, and check if your hosts speak English. If not, you
will need an interpreter.

e. Allow time for proper introductions and small talk as a friendly
atmosphere is helpful. If there is silence during the meeting, don’t wor-
ry — this is thinking time. Always take notes, and write to thank your
hosts and confirm any decisions.
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f. You shouldn’t use someone’s first name until you have you have
met several times and know each other well. Be sure to use titles such as
Mr, Ms, or -san, but never use -san when referring to yourself.

g. Japanese businessmen wear a blue or grey suit, a white or blue
shirt and dark tie. Businesswomen should also wear a suit and use only
a little jewellery and make-up. In summer when it’s hot and humid, it’s
a good idea to pack several changes of clothes.

Find the words in the text which mean:

1) alist of things that will happen or be discussed and dealt with at
a meeting

2) to bend your head or the top part of your body forward and
down, as a sign of respect

3) before a particular time

4) someone who organizes an event and invites the guests

5) to put your arms around somebody, especially to show that you
love him/her

6) the feeling that you have when you admire or have a high opin-
ion of somebody

7) objects made from gold, silver, and valuable stones that you
wear for decoration

Complete the sentences using information from the text:
It’s a good idea to ...

You shouldn’t ...

It’s not polite to ...

It’s important to ...

Never ...

AN S

Find the words in the text which are opposite to:
To miss

Dry

To relax

Guest

Hostile

To receive

SNk =
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2. Put the words in the right order to produce the correct sen-
tences:

1. Make, knows, the, of, everyone, sure, the, and, time, the, date,
meeting.

2. Don’t, referring, use, to, when, -san, yourself.

3. They, the, in, us, send, agenda, advance.

4. He, been, the, hasn’t, business, given, card.

5. It’s, a, business, from, good, not, to, a, idea, partner, kiss, Japan.

6. How, you, a, when, feel, met, Japanese, did, businessman, you,
first, the, for, time?

7. They, don’t, speak, English, they?

8. Didn’t, your, him, business, you, give, card?

9. When, an, will, need, you, interpreter?

10. Who, speak, about, will, particular, points?

3. Match each sentence opener (1-5) with a suitable ending (a—e):
1. If we have too much work and not enough time ...

2. Inmy job, I use my imagination and ideas a lot ...

3. Sometimes my job is difficult ...

4. Ido the same thing every day — ...

5. There is so much to do at work ...

a) ... so the work is really creative.

b) ... but I would get bored if it was too easy.
¢) ... it can be quite stressful.

d) ... that I’'m always busy.

e) ... my job is boring.

4. Choose the correct variant:
1. On omo3gan Ha MOE3/, HO €My Kak-TO yJajoCh MpUEXaTh BO-
BpeMs.
a. He missed the train but somehow he managed arriving on time.
b. He missed the train but somehow he managed to arrive on time.
c. He missed the train but somehow he had managed to arrive on time.
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2. OHH C HETepIeHHueM 3XIyT BO3MOXHOCTH OOCYIUTh C HAMH
ATOT BOIPOC.
a. They are looking forward to discussing this problem with us.
b. They are looking forward to discuss this problem with us.
c. They are looking to discussing this problem with us.

3. Cnacu60, 4TO BBl IPUXOJAMIIA HA COOECET0BaHUE.
a. Thank you to attend the interview.
b. Thank you for attending the interview.
c. Thank you that you attended the interview.

4. 1oOpo mokanoBaTh B Halmly KOMaHIY. YBEpEH, ThHI 37eCh CO
BCEMHU I10JIaJUIIIb.
a. Welcome to our team. I’m sure you’ll get on with everyone here.
b. Welcome to our team. I’'m sure you’ll get by with everyone here.
c. Welcome to our team. I’m sure you’ll get over with everyone here.

5. MBI IuIanupyeM MpUBIIeYb KOMaHAY dKCIIEPTOB.
a. We’re planning to bring up a team of experts.
b. We’re planning to bring forward a team of experts.
c. We’re planning to bring in a team of experts.

5. Match up the reports (1-5) with what the people actually
said (a—e):
1. She advised them to abandon the project.
She insisted on reading all the reports.
He admitted it had been a difficult year.
He questioned the figures.
She said she had no news about the accident.

nhwbh

a) «Yes, it has, indeed, been a very difficult year as we can see
from the figuresy.

b) «He phoned on Monday, but he wasn’t able to tell me any more
about the accident.

c) «Forget the project! You’re just wasting money and you’ll never
get a resulty.
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d) «I want to have every report concerning the accident on my desk
so that I can read each one».

e) «Can you tell me where these figures came from because I can’t
believe them?»

6. Replace the words underlined in each sentence (1-5) with
a word or a phrase (a—e) given below:

1. Hundreds of football fans acted violently in the city streets.

2. Some experts believe that the economic tide has now turned.

3. The government has done nothing about this problem for years.

4. Students have been banned from using local pubs since the in-
cident.

5. With the application, a passport-sized photograph is necessary.

a) situation has changed
b) rioted

¢) barred

d) required

e) neglected

7. Complete the following dialogue by choosing the missing lines
from the phrases given below:

A (1) ...

B: Good morning Sue.

A (2)...

B: Go ahead.

A:...(3) ...

B: Well, I’'m not sure it’s insured for anybody else to drive.

A .4 ...

B: Well, if you’re sure.

A:...(5)...

B: OK. Speak to you later, then.

a. Could I ask you a favour?
b. I’'m fairly certain the company insurance will cover it.
¢. Good morning. This is Sue Chalmers, Richard Bart’s PA.
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d. I was wondering if I could use your car this afternoon?
e. I’ll check first and give you a ring in a moment.

II BAPUAHT

1. Read this article about marketing.

Match the questions (1-6) with the paragraphs (a—f):
How do I meet my objectives?

What do I want to achieve?

What is marketing?

How do I communicate my message?

How do I find out this information?

What do I need to know?

What Is Marketing?

AN

a. Marketing is finding out about your customers and competitors
so that you can provide the right product at the right price.

b. Think about the people you want to sell to: your target market.
Different products have different target markets, for example, Swatch
and Rolex watches. Questions to ask are:

— Who are my customers — age, seX, income?

— What is the size of the market?

— Is it possible for the market to get bigger?

— What about product awareness — do people know about my com-
pany’s products?

c. You find out this information through market research. Market
research uses interviews to find out about people’s attitudes and ques-
tionnaires to find out about their shopping habits.

d. When you know who your customers are and how big your mar-
ket is, the next step is to set your objectives. Do you want to increase
sales? To increase market share? Or to make your product different
from the competition?

e. Next, think about your strategy for meeting your objectives.
If your objective is to increase market share, you could:

— Find new customers by making your product more attractive

— Take customers from your competitors

— Persuade your customers to use more of your product
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f. How will you make your strategy work? What message do you
want to send? There are many types of promotion and it’s important to
choose the right one, e. g.

— Advertising on TV, in newspapers, etc.

— Direct marketing by post (mailshots)

— Telesales — selling to customers on the phone

— Point-of-sale material in shops — free samples or special offers.

Now you are ready to launch your product in the market. Good
luck!

Find the words in the text which mean:

Ways of telling people about your products.

The part of the total market that buys your products.
Knowledge of your company’s products.

Other companies that sell similar products.

Finding out about the market.

To introduce a new product to the market.

The kind of people you are interested in selling to.
A plan you use in order to achieve something.

PRk

Complete the sentences using information from the text:
First you have to ...

To find out about ...

The next step is ...

After that you should ...

Finally ...

Nk w =

Find the words in the text which are opposite to:
1) partner

2) decline

3) similar

4) expenditure

5) discourage

2. Put the words in the right order to produce the correct sen-
tences:
1. What, of, the, purpose, the, is, advertisement?
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How, your, you, strategy, make, will, work?
Do, to, people, or, inform, about, you, your, product, want, service?
What, know, company’s, do, about, your, people, products?
Why, you, are, advertising?
Different, target, have, different, products, markets.
They, for, their, about, are, information, the, looking, competitors.
He, to, the, persuade, potential, failed, customers.
Our, that, time, for, shows, the, soaps, and, research, best, is,
dramas TV ads, music, between, programmes.

10.Find, who, customers, out, your, are.

OO N U AW

3. Match each sentence opener (1-5) with a suitable ending (a—e):
1. An agreement to sell only one manufacturer’s goods ...

2. All the people involved in selling a company’s goods or services ...
3. A licence registering an invention and protecting ownership ...
4. People who buy from companies and sell to retailers ...

5. Ownership of the reproduction rights of intellectual property ...

a) ... are the sales force.

b) ... is called a patent.

c) ... 1iscalled a sole distribution agreement.
d) ... are called independent distributors.

e) ... is protected by copyright.

4. Choose the correct variant:

1. JlupexTop 1o MapKETWHTY HACTaWBajl Ha WCIIOIH30BAHUH AHKET
I BBIACHCHUSA ITOKYIATCIbCKHUX IMTPUBBIYCK KIIMCHTOB.
a. The marketing manager insisted to using questionnaires to find out
about the shopping habits of the customers.
b. The marketing manager insisted on using questionnaires to find out
about the shopping habits of the customers.
c. The marketing manager insisted to use questionnaires to find out
about the shopping habits of the customers.

2. OHM peKpaTIWiii PEKIaMUPOBATh CBOY YCIYTH Ha TEICBUIACHUM.
a. They stopped advertising their services on TV.
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b. They stopped to advertise their services on TV.
c. They stopped advertising their services in TV.

3. TepneTh HE MOTY OTBEYATh HA BOIIPOCHL.
a. I can’t stand to be interviewed.
b. I can’t stand being interviewed.
c. I can’t stand interviewing.

4. TTocite Tpex MecsIeB HCIBITaTeIbHOTO CPOKa ee NPUHSUIN Ha pa-
00Ty Ha IOJPKHOCTh PETHOHAIBHOTO PYKOBOIUTEIIS.
a. After a three month trial period , she was taken on as an area manager.
b. After a three month trial period , she was taken in as an area manager.
c. After a three month trial period , she was took on as an area manager.

5. OHa Bcer/ia NpUIICHUBACTCS MPEXKIEC, YEM CAEIATh MOKYIIKY.
a. She always shopping around before she makes a purchase.
b. She always shops about before she makes a purchase.
c. She always shops around before she makes a purchase.

5. Match up the reports (1-5) with what the people actually
said (a—e):

1. She apologized for the confusion.
She accused them of unfair competition.
They complained about the lack of information in the company.
He thanked everyone.
The managing director congratulated him on his new position.

wbkwn

a) «I’m very grateful for all you’ve done».

b) «I’'m afraid the information you received wasn’t quite right and
I’m very sorry about the problems which followed».

c¢) «They have reduced their prices and made it impossible for us to
compete effectively».

d) «Well done! We are very pleased that you’ve got the new job in
the company».

e) «Nobody ever knows what’s going on in this company. We get
told absolutely nothing.
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6. Replace the words underlined in each sentence (1-5) with
a word or a phrase (a—e) given below:

1. Do you want to go to the office or to sign and get your room
at the hotel first?

2. I couldn’t find an answer to the problem of where I was or where
I was going.

3. Sales usually increase around January and decrease in the sum-
mer months.

4. You must bring up the issue with your line manager.

5.1did have to stop and park the car for a few minutes to stop feel-
ing so angry and upset.

a) calm down
b) work out
¢) check in
d) drop off
e) raise

7. Complete the following dialogue by choosing the missing
lines from the phrases given below:

A (D) ...
B: That’s me. You must be Ra;.
A (2)...

B: Yes, [ know. I hope you haven’t been waiting long.

A:...(3) ...

B: Long! Since the budget cuts, we’ve had to fly economy and, I
must say, I miss the legroom.

A .4 ...

B: Yes, indeed. And we’re also quite a bit wider than we were 20
years ago!

A (5 ...

B: At least I had an exit row seat. Anyway, I’d just like to wash my
hands before we get going.

a. Right.

b. Alison Taylor?

c. Tell me about it. Have the airlines forgotten that people are a lot
taller now than they were 20 years ago?
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d. Yes, that’s right. Hello! It’s great to finally meet you in person
after all our phone calls and emails.
e. No, I just got here ten minutes ago. So, how was the flight?

III BAPUAHT

1. Here are some «rules» for preparing a presentation.

Match the first sentence of each paragraph (1-6) with the para-
graphs(a—f):

1. Decide what you want to say to your audience.

2. Choose the right equipment to help make your talk interesting.

3. Find out who you are talking to.

4. Practice your presentation in advance.

5. Make sure your presentation has a clear structure.

6. Find out about the room you are talking in.

Preparing a Presentation

a. It’s important to know your audience. How many people are
there? Where are they from? What do they want to learn? How much do
they already know?

b. The venue is important too. If possible, visit it before your
presentation. Where will the audience sit? Where will you stand? Where
will you put your equipment?

c. Make sure your objectives are clear. This will help you to prepare
material that is interesting and informative. Remember, you want your
audience to learn something they don’t know. You also want them to
enjoy your presentation.

d. A well-organized presentation is easier to understand. Give it a
beginning, a middle and an end. Make separate points and number them.
This structure will help your audience follow what you are saying.

e. There are many different kinds of AV (audio-visual) aids. You
can use a simple flip chart or show slides on an overhead projector.
There is also computer software, like Microsoft Powerpoint, which can
make your presentation look professional. Choose AV aids that are ap-
propriate for your audience. And make sure you know how they work.

f. Make notes of the most important points. Make sure you speak to
your audience — don’t read to them. Practice giving your talk out loud

and check how much time it takes. Ask a friend to listen and give you
feedback.
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Find the words in the text which mean:

1. Suitable or right for a particular situation, person, etc.

2. All the people who are watching or listening to a play, concert,
speech, the television, etc.

3. An object, a machine, a tool, etc. Using both sound and pictures
that you use to help you do sth.

4. Information or comments about sth. That you have done which
tells you how good or bad it is.

5. Giving useful information.

6. Something that you are trying to achieve.

7. The way that the parts of sth. Are put together and organized.

Complete the sentences using information from the text:
First you have to ...

Make sure ...

The next step is ...

After that you should ...

Finally ...

nhw -

Find the words in the text which are opposite to:
1) forget

2) more difficult

3) connected

4) complicated

5) doubt

2. Put the words in the right order to produce the correct sen-
tences:

1. Make, your, is, sure, presentation, informative.

2. The, my, today, is, of, for, our, the, subject, next, presentation,
plan, three, marketing, years.

3. He, the, for, thanked, audience, coming.

4. Were, the, you, given, feedback?

5. She, handouts, the, talk, to, of, on, has, the, given, audience,
points, the, main, with, them.

6. There, a, in, were, over, the, people, hundred, audience.

7. Have, to, in, of, ever, group, had, you, of, a, front, large, speak,
people?
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8. Why, make, do, people, presentations?

9. What, you, a, about, would, preparing, give, advice, someone,
presentation?

10.He, his, didn’t, with, practiced, a, presentation, friend, he?

3. Match each sentence opener (1-5) with a suitable ending
(a—e):
1. Effective pricing policy depends on ...
All major European manufacturers have to look ...
Consumers are often prepared to pay a high price ...
Consumers usually expect to pay less ...
Globalization has caused many businesses to look ...

nhwbh

a) ... to overseas markets to increase their turnover.

b) ... for a premium brand which they believe represents high
quality.

¢) ... the supply and demand relationship.

d) ... to global markets and not just local ones.

e) ... for products that are unbranded.

4. Choose the correct variant:

1. OHa HaOmr01a)1a, Kak ee Opar MPUBETCTBOBAJ ITYOJIHKY.
a. She watched her brother welcomed the audience.
b. She was watching her brother welcome the audience.
c. She was watching her brother welcoming the audience.

2. OH OyzmeT He NMPOTHB OTBETHTHh Ha Ballld BOTPOCHI, KaK TOJBKO
3aKOHYUT TPE3CHTAIIHIO.
a. He won’t mind to answer your questions as soon as he finishes the
presentation.
b. He won’t mind answering your questions as soon as he will finish the
presentation.
c. He won’t mind answering your questions as soon as he finishes the
presentation.

3. Canzpa ocTaHOBMIIACH, YTOOBI IPOYUTATH OOBSBICHHUE.
a. Sandra stopped to read the advertisement.
b. Sandra stopped reading the advertisement.
c. Sandra stopped to be reading the advertisement.
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4. Ilpogaxxu B IHTEpHETE PE3KO YBEIUYIIINCH B IMIOCIEAHIE TOIBL.
a. Sales on the Internet have taken up in recent years.
b. Sales on the Internet have taken off in recent years.
c. Sales on the Internet have taken over in recent years.

5. Kommanus Hecna orpoMHBIE YOBITKH, KOT/Ia MBI IIPHHSUTA Ha Ce-
051 pyKOBOJICTBO €I0.
a. The company was making huge losses when we took it over.
b. The company was making huge losses when we took it up.
c. The company was making huge losses when we took it after.

5. Match up the reports (1-5) with what the people actually
said (a—e):

1. He enquired whether there were any plans to increase space in
the warehouse.

2. The manager reminded everyone to hand in their quarterly fig-
ures by the end of the week.

3. He suggested asking Anna Smiley to arrange the conference.

4. He agreed to look into the situation.

5. She denied knowing about the operation.

a) «Something must have gone wrong because I know absolutely
nothing about the operation. No one told me about it».

b) «Yes! OK! I’'ll see what I can do about this situation».

c) «How about the arrangements for the conference? Could we ask
Anna Smiley to do it?»

d) «Can you please make sure that you give me the figures for the
last quarter before Friday evening.

e) «We all know that there isn’t enough space in the warehouse and
I’d like to ask if there are any plans to build a new one».

6. Replace the words underlined in each sentence (1-5) with
a word or a phrase (a—e) given below:

1. Andre didn’t want to spend too long sitting, waiting and not do-
ing much at the airport.

2. Well, to begin with, it was still dark when we started our journey.
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3. The share price reached its lowest point at $ 5.45.

4. Reality TV shows are very popular and several TV companies
are trying to make money from them.

5. By the beginning of December sales had almost disappeared

completely.

a) set off

b) dried up

¢) bottomed out
d) hanging around
e) cash in on

7. Complete the following dialogue by choosing the missing
lines from the phrases given below:

A (D) ...
B: How was the weather when you left?
A (2)...

B: Well, we’ve been very lucky here. The last couple of weeks have
been very warm.

A:...(3) ...

B: It depends. Usually we get at least a few hot days, but sometimes
it rains a lot.

A @) ...
B: Oh, yes. Sometimes it goes down to minus 15.
A (5 ...

B: Ugh! Well, I'm glad the weather is nice for your visit here....

a. Do you normally get good summers here?

b. I can’t believe it’s so sunny here. It makes a nice change from
England!

c. Well, at least it never gets that cold in England. The winter there
is usually just grey and wet. It can be quite depressing!

d. It was raining, as usual! This summer has been terrible.

e. [ imagine the winters here must be pretty cold.
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KonTpoabnas padora Ne 3
(111 MHKEHEPHBIX CNeNHATbHOCTEN,
«TexHuuyeckue cUCTEMBbI B arpo0U3Hece»)

I BAPUAHT
1. Read this text.
Assembling A Car

a. First, the parts are delivered by truck or rail to the delivery area
of the car assembly plant. From here, some parts are taken to the body
shop, and other parts are transported to the chassis line. The parts are
carried around the plant by forklift trucks or conveyor belts.

b. In the body shop, the panels are welded to the frame to form the
body of the car. This is done by more than 400 robots.

c. Then the body is taken to the paint shop. Here it is cleaned
and painted by robots. Special clothing is worn by the robots to pro-
tect the paint. After this, the body is checked by human workers to
look for faults.

d. Next, the painted body moves along the conveyor belt to the
trim line and many parts are added to it. For example, the instrument
panel, the air conditioning system, the heating system and the electri-
cal wiring are all installed here. The windscreen is inserted by robots
using laser guides.

e. Meanwhile, in the chassis line, components are added to the
chassis. First, the chassis is turned upside down, to make the work easi-
er. Then the fuel system, the transmission, the suspension, the exhaust
system, the axles and the drive shaft are all installed. The engine is low-
ered into the chassis and connected to it.

f. Now the chassis and the body move simultaneously to the final
assembly line. Here the body is attached to the chassis, and all the final
parts are added. The tyres and the radiator are added here. The hoses are
connected, and the radiator and air conditioner are filled with fluid. The
car’s central computer is also installed here.

g. Lastly, the finished car and all electrical systems are tested. The
car is filled with fuel and the engine is started for the first time. The car
is put on special rollers to test the engine and the wheels. If it passes the
test, the car is finally driven out of the assembly pant.

59

Match the headings (1-7) with the paragraphs (a—g):
Trim line.

Paint shop.

Chassis line.

Delivery area.

The test.

Final assembly line.

Body shop.
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Find the words in the text which mean:

A defect; something that detracts from perfection.

The base frame of a motor vehicle.

An automobile mechanic's workplace.

The pin or spindle on which a wheel revolves.

A mechanical arrangement for transporting material or objects.
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Complete the sentences using information from the text:

1. Some are taken to ...

2. The panels are welded by ...

3. Many parts are added to the painted body while it moves ...
4. To install the fuel system the chassis ...

5. The car is finally driven out of the assembly plant if ...

Find the words in the text which are the synonyms to:
1) to set

2) to examine

3) to control

4) to attach

5) to join

2. Put the words in the right order to produce the correct
sentences:
1. Checked yet have the you tyres?
Thin are sheets why metal a welded frame to?
Put he the finished car on rollers does?
Is painted the protect to from it car rust is not body it?
The serviced should or in weeks battery two be now?

whwn
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Two drills there to steel are attached arms.

Filled are with the bolts holes cement a.

Converts does the not to lower it a frequency signals.
. Tank is very not the petrol big.

0.Can clearly the all driver around see.

)

3. Match each sentences opener (1-5) with a suitable ending (a—):
1. When you heat it ...

2. You have to soften the metal ...

3. We need to bring some diggers here ...

4. Hot weather makes railway lines longer ...

5. The torsion forces in the storm ...

a) ... to deepen the trench.

b) ... it does not burn or deform.

¢) ... and cold weather makes them shorter.
d) ... must have made the bridge weaker.
e) ... before you can hammer it into shape.

4. Choose the correct variant:

1. Crayana p>kaBble 9aCTH aBTOMOOWIIS IPUBO3ST HA 3aBO/I.
a. First, the rusty machine parts are being brought into the factory.
b. First, the rusty machine parts are brought into the factory.
c. First, they brought the rusty machine parts into the factory.

2. ConHeyHasi MaHENb — 3TO YCTPOHCTBO, KOTOpOe Mpeodpasyer
COJTHEYHBIN CBET B SJICKTPUYCCTBO.
a. A solar panel is a device which converts sunshine into electricity.
b. A sun panel is a device which converts sunlight into electricity.
c. A solar panel is a device which converts sunlight into electricity.

3. TonnBHEIE OaKky, pacHoJIOKEHHBIE O] 3aJHAM CHICHBEM, 3a-
TIOJTHSFOTCS BOJIOPOJIOM.
a. The fuel tanks, placed under the rear seat, are filled with hydrogen.
b. The oil tanks, placed under the back seat, are full of hydrogen.
c. The tanks with fuel under the rear seat are being filled with hydrogen.
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4. KOFI[& CBCYa 3aXKUraHus BOCIUIAMEHACTCA, ra3bl B3PbIBAIOTCA.
a. When spark plug sets on fire the gas explode.
b. The spark plug ignited when the gases exploded.
c. When the spark plug ignites, the gases explode.

5. 9T0 YCTpOUCTBO MpeoOpa30Balio CUTHAIBI BBHICOKOW YacTOTHI B
HU3KOYAaCTOTHBIC.
a. These signals are converted by this device from high frequency to
low frequency.
b. This device converted high frequency signals to low frequency.
c. This device converts high frequency signals to the low ones.

5. Match up the reports (1-5) with what the people actually
said (a—e):

1. «OK, said the mechanic, «I’1l repair to car tomorrow».

2. «Would you like to check the engine of your car?» — asked the
chief engineer.

3. « will not paint the damaged door of his car» — said the car
mechanic.

4. «Sorry, I haven’t examined the fuel system yet» — said the re-
pair man.

5. «Oh, you have the oil leak under the car» — said the fuel guy to
the customer.

a) he informed
b) he admitted
c¢) he agreed
d) he refused
e) he offered

6. Replace the words underlined in each sentence (1-5) with
a word (a—e) given below:

1. This device converts the signal to a lower frequency.

2. Please send any complaints to our customer service manager.

3. My DTV card extracts the audio and video.

4. These all are displayed on my PC monitor.

5. Your MP3 player can operate with rechargeable batteries.
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a) transmit
b) show
¢) change
d) work
e) take out

7. Complete the following dialogue by choosing the missing lines
from the phrases given below.

A (1) ..

B: Hello. I’d like some information about your new mobile phone,
please.

A (2)...

B: Yes, please. Do you think you will send it by email?

A:...(3)...?

B: Yes, that’s fine.

Ar...(4)...?

B: Yes, it’s.

A:...(5)...?

B: Thanks. I’ll send it today.

a. Certainly. Would you like me to send you a brochure?

b. Of cause. Shall I send it as a Word attachment?

c. Right. I’ll send it today.

d. Mobile Express. This is Customer Service, Robert speaking.
How can I help you?

e. Good. So, could I have your email address, please?

I1 BAPUAHT
1. Read the text.
The New Hydro-X Hydrogen Fuel Cell Car

a. The environment needs to be protected. Consumption of fossil
fuel has to fall. Emissions of greenhouse gases (carbon dioxide, nitrous
oxide, and methane) into the atmosphere must be reduced.

b. Petrol and diesel engines consume too much fossil fuel and emit
too much greenhouse gas. Hydrogen fuel cells solve this problem, but
they are usually too heavy and have low acceleration.
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c. The new Hydro-X is a car with a lightweight hydrogen fuel cell.
It can accelerate quickly and cruise at high speeds of 160 km/h. It has
a range of 480 km. Its only emission is water vapour.

d. The car is based on two technologies: The hydrogen fuel cell and
the ultra-capacitor. An ultra-capacitor is a powerful capacitor which
provides enough output for fast acceleration.

e. The fuel cell in this vehicle is smaller and lighter than the ones
used in other vehicle, because it’s not needed for acceleration. As a re-
sult, the vehicle is lighter. However, it’s also more powerful because of
the ultra-capacitors.

f. The fuel cell, positioned under the floor to provide more space,
provides a maximum output of 93 kW. The motor, mounted between the
front wheels, provides high output (90 kW) and powerful torque
(276 Nm). The control unit, located over the motor, controls the electri-
cal systems. The ultra-capacitor, set at an angle behind the rear seat to
increase luggage space, delivers immediate high-output power during
startup and acceleration, and recovers energy generated during braking.
The hydrogen storage tanks, placed under the rear seat, can be filled
with 168.3 L of compressed hydrogen gas. They’re connected to the
fuel cell by special pipes. The air pump, mounted directly on the motor,
supplies the fuel cell with oxygen.

g. There are four stages. 1. Acceleration. Power comes from both
the ultra-capacitor and the fuel cell to provide powerful acceleration.
2. Steady speed. Power comes from the fuel cell , but not from the ca-
pacitor. 3. Deceleration. The ultra-capacitor absorbs the energy released
during deceleration and stores it with power from the fuel cell.
4. Stopped. There is no power from the fuel cell. The electricity needed
to operate the air conditioner and other components is supplied by the
ultra-capacitor.

Match the headings (1-7) with the paragraphs (a—g):
1) need

2) operation

3) advantages

4) components

5) technology

6) problems

7) solution
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Find the words in the text which mean:

The act or process of using smth.

An increase in speed.

The act of sending or throwing out.

A device for carrying or transporting objects or individuals.
To reduce the volume of smth by pressure.

kW=

Complete the sentences using information from the text:

1. We must protect ...

2. The problem of petrol and diesel engine can be solved by ...

3. The new Hydro-X is based on ...

4. This vehicle is lighter than others because ...

5. The main components of the new Hydro-X hydrogen fuels sell

car arc ...

Find the words in the text which are synonyms to:
1) decrease

2) decide

3) supply

4) raise

5) produce

2. Put the words in the right order to produce the correct sen-

tences:

1. Today, issues, very, are, environmental, important.

2. Number, have, a, today, aeroplanes, design, of, weakness.
3. Problem, that, is, another, high, is, noise, engine.

4. Levels, must, increased, current, not , be, noise.

5. Ground, receive, data, satellite, to, relays, it, stations, and.
6. Are, which, parts, of, tested, car, the?

7. Measurements, made, the, after, test, what, are?

8. Doesn’t, when, it, a, break, bar, it, does, you, bent?

9. Use, can, how, machines, these, they?

10. Balloon, is, this, with, filled, isn’t, helium, it?

3. Match each sentences opener (1-5) with a suitable ending (a—):
1. A heat pump is an electrical device that ...
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2. The coils are thin pipe ...

3. Long ago, humans used stones ...

4. The ultra-capacitor recovers the energy ...
5. These steel cables are ...

a) ... able to resist tension.

b) ... which is released during deceleration.
¢) ... which are bent in a shape many times.
d) ... to make their knife blades sharper.

e) ... pumps heat from one place to another.

4. Choose the correct variant:
1. BapomeTp — 310 IPUOOP, KOTOPHII U3MEPSET AaBIICHHUE.

. Barometer is a device measuring pressure.
. Barometer is a device to measure pressure.
. Barometer is a device that measures pressure.

2. Bbl 3aBoAMTE MOTOP HAXKATHEM 3TOW KHOIIKH.
You start the motor by pressing this button.

. You start the motor to press this button.
. You start the motor with pressing this button.

3. Bpamasich, KoJIeHBaJ IPUBOIUT B JISHCTBHUE TTOPIIICHb.
Rotating the crankshaft it drives the piston up.

. As the crankshaft rotates, it drives the piston up.
. While the crankshaft is rotating, it is driving the piston up.

4. ITocraBb MallrvHYy B rapaX U BBIKJIIOYU ABUTATCIIb.
Drive the car into the garage and turn over the engine.

. Drive the car into the garage and turn out the engine.
. Drive the car into the garage and turn off the engine.

5. ITaccaxxup BKJIIOYAET KACCY-aBTOMAT, KacasiCh 3KpaHa.

. The passenger activates the ticket machine by touching the screen.
. The passenger activates the ticket machine when touches the screen.
. The passenger activates the ticket machine as touching the screen.
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5. Match up the reports (1-5) with what the people actually
said (a—e):

1. He questioned the aims.

2. He informed them about the plans maintenance team.

3. He insisted on the limits of weight.

4. He asked for a boat catalogue.

5. He told them not to transport the loads this way.

a) «Have you heard the news? A maintenance team is going out to
the platform next Monday».

b) «Are they going to inspect all machinery and check all the elec-
trical systems?» — asked the maintenance supervisor.

c) «Don’t take these kinds of loads through the tunnel».

d) «Lorries must not be heavier than 44 tones».

e) «Hello, I’d like to order a Combo power boat.

6. Replace the words underlined in each sentence (1-5) with
a word (a—e) given below:

1. The car enters the pit line.

2. The driver opens the fuel flap.

3. They loosen the wheel nuts.

4. They raise the car off the ground.

5. Someone switches on the fuel pump.

a) close

b) switch off
¢) put down
d) tighten

e) leave

7. Complete the following dialogue by choosing the missing lines
from the phrases given below:

A (D) ...
B: Hi, Lisa. Well, I can’t open my email attachments.
A (2)...

B: Yes, the emails are fine. But when I double-click on the attach-
ments, nothing happens.
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A:...(3) ...
B: Oh, right. So, what can I do?

A 4 ...
B: No, just this.
A (5 ...

B: OK. I'll try that. Thanks.

a. Open Tools-Options-Security. Try lowering your security level.

b. Technical support. Lisa here. What’s the problem?

c. Well, your email program may be blocking the attachments.

d. You’re welcome.

e. OK. How about the emails themselves? Can you open them all
right?

II1 BAPUAHT
1. Read the text.
Tools Through The Ages

a. The first knives were made about two and half million years ago.
They were crafted by early ancestors of modern humans. At first sharp
pieces of stone were broken off a rock, but in later times they were
sharpened and straightened into blades.

b. The abacus is one of the first mechanical counting devices, an
ancestor of today’s computers. It consisted of a frame containing beads
on wires. The modern abacus was designed by the Chinese around the
year 1200.

c. The compass allowed sailors to navigate across oceans and dis-
cover new worlds. The compass was invented by the Chinese about
2200 years ago. A spoon-shaped piece of magnetic rock was balanced
on a flat surface. Since it was magnetic, the handle rotated to align itself
with the Earth’s magnetic poles.

d. The scythe allows people to cut grass and harvest crops from the
field. It consists of a long wooden shaft with handles on the end and in
the middle, and a long curved blade on the other end. The blade is sharp
on the inside. It was first used in Europe in the 12" century.

e. Glasses (or spectacles) make workers more productive and accu-
rate, and allow people to work into old age. Mathematical calculations
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for a spherical lens were first made by Arab scientists in the 11" centu-
ry. The first spectacles were manufactured by Italian craftsmen in the
13" century.

f. The first balance scales were seen in southern Mesopotamia
about 9000 years ago. They consisted of two weighing pans attached to
either end of a beam, which was balanced on a central pivot. They al-
lowed merchants to exact weigh of goods.

g. The chisel consists of a long, narrow, sharpened edge attached to
a handle. It’s different from the knife or axe, because it is driven by a
sharp blow from a hammer or mallet. The earliest chisels were made
from flint (a kind of stone) 10,000 years ago. Later they were used by
the Egyptians to carve stone for the pyramids.

Match the headings (1-7) with the paragraphs (a—g):
1) the spectacles

2) the chisel

3) the abacus

4) the balance scale

5) the scythe

6) the knives

7) the compass

Find the words in the text which mean:

1. To make by hand and with much skill.

2. A state of equilibrium.

3. The flat part of a tool that has a cutting edge.

4. Long thick piece of wood or metal used in construction.

5. The axis consisting of a short shaft that supports something
that turns.

Complete the sentences using information from the text:
1. The first knives were crafted by ...

2. An ancestor of modern computer is ...

3. About 2200 years ago the Chinese invented ...

4. The scythe consists of ...

5. The first balance scales allowed ...

Find the words in the text which are synonyms to:
1) pin
2) border
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3) part
4) create
5) revolve

2. Put the words in the right order to produce the correct
sentences:

1. The, push, into, nozzle, the, fuel, tanks.

2. Robot, stay, the, does, how, bike, the, on, upright?

3. The, is, receiver, where, wireless?

4. Helps, robot, in, the, line, strait, a, what ride?

5. Installed, yet, have, memory, you, card, the?

6. Cleaning, still, the, I, plugs, am, spark.

7. Long, antennas, had, it, hadn’t, four, it.

8. The, opened first, bonnet, is, car, of, the.

9. Prov1ded is, electricity, panels, by, cells, on, solar, the.

10. Give, could, fastest, you, your, yachts, me?

3. Match each sentence opener (1-5) with a suitable ending (a—e):
1. You must be very pleased with ...

2. The French built their high-speed link 13 years ago ...

3. Eurostar trains can now travel ata ...

4. The twin-bore tunnels pass under seven miles ...

5. The ground under London was so hard ...

a) ... that we wore out six of them.

b) ... the successful competition of the project.
c) ... speed of up to 298 kmh.

d) ... of surface railway track.

e) ... and now we’ve just finished ours.

4. Choose the correct variant:
1. JIonoTo npeaHa3HaueHOo ISl CPE3aHusl CJI0EB IPEBECHHBI.
a. Chisels are for cutting out pieces of wood.
b. Chisels cut out pieces of wood.
c. Chisels is used for cutting wood.
2. KapOGroparop co3faH Ui CMEIITUBAHUS TOTUIMBA C BO3TyXOM.
a. Carburetors mix fuel with air.
b. Carburetors are designed for mixing fuel with air.
c. Carburetors is used as a mixer for fuel and air.
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3. DneBaTopsl OBLIM MOKPHITHI OTHEYHOPHBIM MaTEpHAIOM I WX
3aIUTHI.
a. Elevators were protected by fire-resistant material.
b. Elevators were covered by fire-resistant material to protect them.
c. Elevators were covered with fire-resistant material to protect them.

4. Be1Opocsl yraepoja B ToOpoJie COKpaTmimch Ooiee yem Ha 50%.
a. Carbon emission in the city has gone down by over 50%.
b. Carbon emission in the city decreased down by over 50%.
c. Carbon emission in the city went down over 50%.

5. Ilpwm cxaTum ra3 KOHACHCUPYETCS, BBIAEISAA TEILIO.
a. Compressed gas condenses, and gives out the heat.
b. When a gas is compressed, it condenses giving out the heat.
c. When a gas is compressed it gives out heat.

5. Match up the reports (1-5) with that the people actually
said (a—e):
He complained about the purchase.
He insisted on the changes.
He advised the customer to complain.
He suggested that they discussed some problems.
He questioned the design.

Nk =

a) «The portable TV that I Purchased at your store doesn’t work».

b) «If the goods were faulty when you bought them, complain to
the retailer».

c) «Let’s talk about some disadvantages of this design».

d) «So, what’s the problem with the design?»

e) «The design must be changed».

6. Replace the words underlined in each sentence (1-5) with
a word (a—e) given below:

1. Current vehicles store 50—-100 sensors and this number is contin-
ually growing.

2. These sensors permit vehicles to listen and react to the environ-
ment around them.

3. Electronic sensors guarantee that new vehicles are the safest car
on the road.
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4. Quick-reaction crash sensors switch on the airbags and the ten-
sion on the seatbelt.
5. Height sensors find approaching vehicles and automatically ad-

just the headlamps.

a) allow
b) contain
c) detect
d) activate
€) ensure

7. Complete the following dialogue by choosing the missing
lines from the phrases given below:

A (D) ...

B: As you can see, they were still selling a few cars without air-
bags. So the Lorca, for example, had no airbag.

A (2)...

B: The Pamplona end the Malaga both had dual airbags. The Zamo-
ra just had one driver’s airbag.

A:...(3) ...

B: Yes, generally. As you can see, we changed to a star rating with
one-star the lowest and with four-star the highest safety rating.

A @) ...
B: Yes, the Malaga had a four-star rating.
A (5 ...

B: Not yet, thank you. Good bay!

Have you chosen any?

Tell me about the results for the cars 2000.

And did any of these cars get a four-star rating?

What about their safety rating? Were they better than in 19977
And what about the other three?

oo o
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KonTpoabnas padora Ne 3
(11 MHKeHepPHBIX cnenuanabHoctei, [IT'C)

I BAPUAHT

1. Read this information about the most important and widely
used building materials.

Match the headings (1-6) with the paragraphs(a—f)

1. Technology of concrete production.

2. Composition of cement.

3. The properties of Portland cement.

4. Materials for building masonry units.

5. The properties of major building materials.

6. The aim of the designer.

The Most Important And Widely Used Building Materials

a. The designer must be able to select and adapt such, materials of
construction that will give the most effective result by the most econom-
ical means. In this choice of materials for any work of construction, the
civil engineer must consider many factors. These factors include availa-
bility, cost, physical properties of materials and others.

b. Timber, steel and concrete all vary, sometimes — over considera-
ble ranges, in the properties desired by the engineer. Even steel, uniform
as it appears to be, varies considerably in its microstructure. Concrete is
even less uniform than many other materials.

c. Lime, gypsum and cement are the three materials most. Widely
used in building construction for the purpose of binding together mason-
ry units, such as stone brick and as constituents of wall plaster. Cement
is furthermore the most important component of concrete.

d. Another important class of cement is high alumina cement. High
alumina cement is a material containing alumina. It has an extremely
high rate of strength increase, which is, owing to the violence of the
chemical reaction, accompanied by a considerable evolution of heat.
It is very resistant to chemical attack.

e. It therefore follows that Portland cement like other materials can
to some extent be modified to suit a particular application. The scope
for such purpose-made cements has led to the development of an in-
creasing variety such as high alumina cement, blast-furnace slag and
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pozzuolanas. Portland blast-furnace cement has greater resistance to
some forms of chemicals.

f. The most important building materials may be considered an arti-
ficial, conglomerate of crushed stone, gravel or similar inert material
with a mortar. A mixture of sand, screenings or similar inert particles
with cement and water which has the capacity of hardening into a rock-
like mass is called mortar. The fundamental object in proportioning
concrete or mortar mixes is the production of a durable, material of req-
uisite strength; water tightness and other essential properties at mini-
mum cost. To attain this end careful attention must be given to the se-
lection of cement, aggregate and water.

Find the words in the text which mean :

1. To become different, change.

2. The amount of money paid of needed for buying, doing or pro-
ducing something.

3. Stones from which a building, wall etc is made.

4. A building material made by mixing sand, very small stones, ce-
ment and water.

5. Extreme force in action that causes damage.

6. The started force apposed to anything moving.

7. A mixer of lime, water, sand etc which is used on walls to give a
smooth surface.

Complete the sentences using information from the text:
1. It’s important to ...

2. It’s there follows ...

3. The designer should ...

4. Careful attention must be ...

5. It appears to be ...

Find the words in the text which are opposite to :
1) porous

2) natural

3) rarely

4) careless

5) low

6) reducing
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2. Put the words in the right order to produce the correct sen-
tences:

1. Kind, cement, to chemical, resistant, attack, very, is, the, to, this.

2. Construction, when, selecting, must, engineer, consider, civil,
the, many, the, material, factors, for.

3. Cement, class, cement, of, alumina, important, high, is, another

4. Materials, influences, building, what, the, of, choice?

5. Uniform, many, concrete, materials, is other, less, than, even

6. Rate, of, increase, extremely, high, strength, material, an, has, this.

7. Lime, are, and, used, gypsum, in, cement, construction, building,
binding, purpose, for, units, the, of, masonry.

8. Artificial, such, may, material, be, an, conglomerate, considered,
a, stone, crushed of, or, with, gravel , a, mortar.

3. Match each sentence opener (1-5) with a suitable ending (a—e):
1. This type of concrete is known ...

2. Reinforced concrete is said ...

3. Steel rods are sure ...

4. Concrete is usually considered ...

5. It is important not to use too much water ...

a) ... as this will make the concrete weak.

b) ... to have reinforcement in the form of wires

¢) ... to be embedded in the mixture thus forming reinforced concrete.
d) ... to crack in tension .

e) ... not to shrink due to hydration.

4. Choose the correct variant:

1. OH omo3ai Ha 1Moe3/1, HO eMY KaK-TO YIaJIOoCh MPUEXaTh BOBPEMSI.
a. He missed the train but somehow he managed arriving on time.
b. He missed the train but somehow he managed to arrive on time.
c. He missed the train but somehow he had managed to arrive on time.

2. OHM ¢ HETEPIICHUEM IYT BO3MOXKHOCTH OOCYIHTH C HAMH 3TOT
BOIIPOC.
a. They are looking forward to discussing this problem with us.
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b. They are looking forward to discuss this problem with us.
c. They are looking to discussing this problem with us.

3. Cnacu00, 4TO BBI MPUXOIUIIHM HA COOSCEI0BaHUE.
a. Thank you to attend the interview.
b. Thank you for attending the interview.
c. Thank you that you attended the interview.

4. 1o6po moskanoBaTh B HAIly KOMaHIy. YBEpeH, ThI 37IeCh CO BCe-
MU IIOJIaUIIb.
a. Welcome to our team I’m sure you’ll get on with everyone here.
b. Welcome to our team. I’'m sure you’ll get by with everyone here.
c. Welcome to our team. I’'m sure you’ll get over with everyone here.

5. MrI IutaHrpyeM NpyBJI€Yb KOMAHY 3KCIEPTOB.
a. We’re planning to bring up a team of express.
b. We’re planning to bring forward a team of experts.
c. We’re planning to bring in a team of experts.

5. Match up the reports (1-5) with what the people actually
said (a—e):

1. She advised them to abandon the project.

2. She insisted on reading all the reports.

3. He admitted it had been a difficult year.

4. He questioned the figures.

5. She said she had no news about the accident.

a) «Yes, it has, indeed, been a very difficult year as we can see
from the figuresy.

b) «He phoned on Monday, but he wasn’t able to tell me any more
about the accident.

c) «Forget the project! You’re just wasting money and you’ll never
get a resulty.

d) «I want to have every report concerning the accident on my desk
so that I can read each one».

e) «Can you tell me where these figures came from because I can’t
believe them?.
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6. Replace the words underlined in each sentence (1-5) with
a word or a phrase (a—e) given below:

1. Thanks to this project, small companies can manufacture afford-
able building materials locally, using their own resources.

2. The properties of concrete are directly related to those of its con-
stituents.

3. That was a new method to treat cement —based building materials
hydrothermally

4. Modern Western style home is often built with lumber frames
and fitted with bricks.

5. This is because of inadequate thermal insulation.

a) aggregate
b) timber

¢) produce
d) process
e) due to

7. Complete the following dialogue by choosing the missing lines
from the phrases given below:

A (D) ...

B: Good morning Sue.

A (2)...

B: Go ahead.

A:...(3) ...

B: Well, I'm not sure it’s insured for anybody else to drive.
A .4 ...

B: Well, if you’re sure.

A (5 ...

B: OK. Speak to you later, then.

a. Could I ask you a favour?

b. I’'m fairly certain the company insurance will cover it.

¢. Good morning. This is Sue Chalmers, Richard Bart’s P A.
d. I was wondering if I could use your car this afternoon?

e. I’ll check first and give you a ring in a moment.
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II BAPUAHT

1. Read this information about Town Planning.
Match the headings (1-5) with the paragraphs (a—e)
Features of the traditional town pattern.

The plan should be flexible.

What main points should be included in survey.
The purpose of a town plan.

The purpose of a master plan.

NhOD =

Town Planning

a. That cities should have a plan is now admitted in our time of
large-scale construction and plan-making has become an everyday ac-
tivity. The purpose of a town plan is to give the greatest possible free-
dom to the individual. It does this by controlling development in such a
way that it will take place in the interests of the whole population.

b. The new development absorbs or modifies an existing environ-
ment and before it can be designed it is necessary to find out about that
environment. It is also necessary to do research of the trends of popula-
tion growth, the distance from work to home, the preferences for differ-
ent types of dwelling, the amount of sunshine in rooms, the degree of
atmospheric pollution and so on. After the survey is complete a forecast
of future development is made in the form of a map, or series of maps:
the master plan or development plan. As no one can be certain when the
development is to take place and since a society is an organic thing,
with life and movement, the plan of a city must be flexible so that it
may extend and renew its dwellings, reconstruct its working places,
complete its communications and avoid congestion in every part.

c. The plan is never a complete and fixed thing, but rather one that
is continually being adapted to the changing needs of the community for
whom it is designed. Until quite recent years town plans were always
made as inflexible patterns, but history has shown that a plan of this de-
scription inevitably breaks down in time. The flexible plan, preceded by
a survey, is one of the most revolutionary ideas that man has ever had
about the control of his environment.

d. Most towns today have a characteristic functional pattern as fol-
lows: a central core containing the principal shopping centre, business
zones, surrounded, by suburbs of houses: Most town planners accept the
traditional town pattern.
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In the preparation of a master plan they are preoccupied with the
definition of the town centre, industrial areas and the areas of housing;
the creation of open space for recreation, the laying down of a pattern of
main roads which run between the built-up areas(thus leaving them free
of through traffic) and connect them to each other.

e. The master plan thus has to define the ultimate growth of the
town, but though the master plan is a diagram, and even a flexible one,
it is the structure upon which all future development is to take place.

Find the words in the text which mean:

1. A general examination or study (of conditions, opinions).

2. An outer area of a town or city where people live.

3. A place of land on which houses have been built.

4. The natural conditions such as air, water and land in which peo-
ple animals, plants live.

5. That can bend or be bent easily.

6. To make a drawing or pattern of smth. that will be built or made.

7. To give the meaning of; desirable exactly.

Complete the sentences using information from the text:
1. It'sa good idea to ...

2. It's important to ...

3. The purpose to ...

4. In the preparation of ...

5. It is necessary to ...

Find the words in the text which are opposite to:
1) purification

2) to narrow

3) slavery

4) to start

5) to reject

6) recreation

2. Put the words in the right order to produce the correct sen-
tences:

1. Environment, is, to, necessary, of, why, a, existing, make, the,
survey?
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2. Will, take, the, must be, plan, as, development, the, one, certain,
can, of, city, a, when, flexible, place.

3. Topography, the, defines, master, the, its, to, plan, pattern, the,
town, and, the, relation, of.

4. Industry, housing, and, zones, it, the, areas, and, principle, for,
necessary, shows.

5. Last, the, town, greatly, has, since, it, I, changed, saw.

6. Development, when, in, mind, bear, a, design, we, future, of,
town, should, a, making.

7. Accept, most, the, town, planners, pattern, town, traditional.

8. A, of, what, survey, does, consist?

9. Best, we, take, to, are, decide, all, into, the, what, consideration,
and, advantages, is, disadvantages, plan.

10. Life, it, growth, a, is, law, because, is, or.

3. Match each sentence opener (1-5) with a suitable ending (a—e):
1. The town must work properly but, ...

2. The problem must be thoroughly examined which, ...

3. The town designer must think of his raw materials, ...

4. All new development takes place, ...

5. Scientific forecast also includes, ...

a) ... progressive methods of planning.

b) ... in terms of time.

¢) ... it should also give pleasure to those who look at it.

d) ... Tin an existing environment.

e) ... does not suggest that the cheapest scheme may be the best.

4. Choose the correct variant:

1. Bapometp — 310 MPUOOP, KOTOPBIH U3MEPSIET 1aBICHHUE.
a. Barometer is a device measuring pressure.
b. Barometer is a device to measure pressure.
c. Barometer is a device that measures pressure.

2. Bbl 3aBoAMTE MOTOP HAXATHEM 3TOW KHOIIKH.
a. You start the motor by pressing this button.
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b. You start the motor to press this button.
c. You start the motor with pressing this button.

3. Bpamasice, KaneHBaJ MPUBOJUT B JICHCTBUE MOPIICHb.
a. Rotating the crankshaft it drives the piston up.
b. As the crankshaft rotates, it drives the piston up.
c. While the crankshaft is rotating, it is driving the piston up.

4. ITocraBb MallrvHYy B rapaX U BBIKJIIOYU ABUTATCIIb.
a. Drive the car into the garage and turn over the engine.
b. Drive the car into the garage and turn out the engine.
c. Drive the car into the garage and turn off the engine.

5. ITaccaxxup BKJIIOYAET KACCY-aBTOMAT, KacasiCh SKpaHa.
a. The passenger activates the ticket machine by touching the screen.
b. The passenger activates the ticket machine when touches the screen.
c. The passenger activates the ticket machine as touching the screen.

5. Match up the reports (1-5) with what the people actually
said (a—e):

1. He questioned the aims.

2. He informed them about the plans maintenance team.

3. He insisted on the limits of weight.

4. He asked for a boat catalogue.

5. He told them not to transport the loads this way.

a) «Have you heard the news? A maintenance team is going out to
the platform next Monday».

b) «Are they going to inspect all machinery and check all the elec-
trical systems?» — asked the maintenance supervisor.

c) «Don’t take these kinds of loads through the tunnel».

d) «Lorries must not be heavier than 44 tones».

e) «Hello, I’d like to order a Combo power boat.

6. Replace the words underlined in each sentence (1-5) with
a word or a phrase (a—e) given below:

1. A great amount of effort is spent on the correct application of
formulas.
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2. They regularly perform urgent of construction equipment at this
plant.

3. This bridge can fall down under the weight of the train.

4. Some cracks in beams can appear during construction.

5. What is a legal temperature a building must keep in the winter in
this area?

a) emerge
b) collapse
c) carry out
d) accurate
e) retain

7. Complete the following dialogue by choosing the missing
lines from the phrases given below:

A (D) ...
B: Hi, Lisa. Well, I can’t open my e-mail attachments.
A (2)...

B: Yes, the emails are fine. But when I double-click on the attach-
ments, nothing happens.

A:...(3) ...
B: Oh, right. So, what can I do?
A .4 ...

B: OK. I'll try that. Thanks.

a. Open Tools-Options-Security. Try lowering your security level

b. Technical support. Lisa here. What’s the problem?

c. Well, your email program may be blocking the attachments.

d. You’re welcome.

e. OK. How about the emails themselves? Can you open them all
right?

III BAPUAHT

1. Read this information about the choice of materials.
Match the headings (1-5) with the paragraphs (a—e)
1. The advantages of reinforced concrete.
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2. The main characteristics of concrete.

3. New tendencies in the choice of building materials.

4. The chief principles of plastics classification.

5. Factors that influence mass production of prefabricated large-size
concrete and reinforced- concrete structural elements.

The Choice Of Materials

a. Which material can be used to the best advantage for a particu-
lar part of the time building, depends as well on the kind of load to
which it is subjected and on the shape of the part. That the develop-
ment of the metallurgical and machine-building industry made possible
mass production of prefabricated large-size concrete and reinforced-
concrete structural elements is a well-know factor to influence the
choice of materials.

b. Reinforced concrete is a building material in which the joint
functions of concrete and steel are advantageously utilized. Being brit-
tle, concrete cannot withstand tensile stresses and it cannot therefore be
used in structures subjected to tensile stresses under load. But if steel is
introduced into concrete it changes the property of the monolith.

c. There are two kinds or reinforced concrete: with ordinary rein-
forcement and concrete with prestressed reinforcement. To reinforce or-
dinary concrete structures is to introduce steel rods in stretched zones of
concrete elements. Rein-forced-concrete structures and elements are
widely used both for residential houses and industrial buildings.

d. In many cases bricks too are very satisfactory for use in the con-
struction. Bricks generally present a pleasing appearance and can be ob-
tained with various qualities, colours, and textures. Being of a high vol-
ume weight and high thermal conductivity, ordinary brick is not always
satisfactory in building practices. There are other kinds of bricks which
are more-effective, they are light-weight building bricks, hollow porous
bricks. Light- weight building bricks differ from ordinary clay bricks in
a lower volume weight and lower thermal conductivity, and are there-
fore more economical than ordinary bricks.

e. One of the most significant facts about both industry and building
has been research on synthetics and plastics. Plastics have appeared
comparatively recently, bur owing to their inherent valuable and diverse
properties, have found a wide application in many industrial fields (ma-
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chine — building, aviation ,textile industry, etc...). In respect to physical
and mechanical properties at a normal temperature of 20 °C all plastics
are divided into rigid, semi-rigid, sift and plastic. In respect to the num-
ber of constituents plastics may be classified as simple and complex.

Find the words in the text which mean:

1. Something that is being or is to be carried especially something
heavy.

2. A light artificial, material produced chemically which can be
made into different shapes when soft.

3. A building material made by mixing sand, very small stones, ce-
ment and water.

4. To have an effect on someone or something without of use direct
force or command.

5. Heavy, firm earth, that is soft when wet, but becomes hard, when
baked at high temperature.

6. Act of putting smth. to use.

7. A large block of stone usually taller than it is wide, standing by
itself.

Complete the sentences using information from the text:
1. It’s important to ...

2. In many cases ...

3. Inrespect to ...

4. One of the most ...

5.1t’sagoodideato ...

Find the words in the text which are opposite to:
1) brittle

2) to remove

3) hard

4) complex

5) disadvantage

6) unusual

2. Put the words in the right order to produce the correct sen-
tences:
1. Consisting, simple, to, as, one, of referred, plastics, are, polymer.
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2. Organic, consists, synthetic, one, the, of, glass, resin.

3. Building, field, deal, complex, plastics, usually, with, in, but,
the, we.

4. Still, change, concrete, its, introduced, properties, does, into, how?

5. Reinforcing, to, with, high, a , material, a , strength , tensile, the,
purpose, provide, of.

6. Strength, cement, of, final, the, paste, likely, is, the, in, reached,
to, three, be, weeks.

7. Is, some, material, of, introduced, into, kind, if, steel, its, proper-
ty, it, changes.

8. What, use, both, raw, in, materials, have, into, come, and, indus-
try, building?

9. Windows, invention, have, used, since, been, of, the, glass,

10. Frame, to, timber, a, bricks, covered, is, an, outer, with , covering.

3. Match each sentence opener (1-5) with a suitable ending (a—e):
1. There are some kinds of materials which are ...

2. Some building materials after ...

3. In many cases ...

4. There are some kinds of structural materials ...

5. In respect of physical and mechanical properties ...

a) ... a good resistance to compressive loads.

b) ... brittle and cannot with stand tensile stress

c) ... that have appeared comparatively recently

d) ... bricks too are very satisfactory for use in the construction.
e) ... these materials are divided into rigid, semi-rigid and soft.

4. Choose the correct variant:

1. Crayana p>kaBble 9aCTH aBTOMOOWIIS IPUBO3ST HA 3aBO/I.
a. First, the rusty machine parts are being brought into the factory.
b. First, the rusty machine parts are brought into the factory.
c. First, they brought the rusty machine parts into the factory.

2. ComHeuHasi TaHENb — ATO YCTPOKMCTBO, KOTOpOE IMpeodpasyeT
COJTHEYHBIN CBET B SJICKTPUYCCTBO.
a. A solar panel is a device which converts sunshine into electricity.
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b. A sun panel is a device which converts sunlight into electricity.
c. A solar panel is a device which converts sunlight into electricity.

3. TonnBHEIE Oaky, pacHoJIOKEHHBIE O] 3aJHAM CHICHBbEM, 3a-
TIOJTHSFOTCS BOJIOPOJIOM.
a. The fuel tanks, placed under the rear seat, are filled with hydrogen.
b. The oil tanks, placed under the back seat, are full of hydrogen.
c. The tanks with fuel under the rear seat are being filled with hydrogen.

4. KOFI[& CBCYa 3aKUTraHus BOCIUIAMEHACTCA, ra3bl B3PbIBAIOTCA.
a. When spark plug sets on fire the gas explode.
b. The spark plug ignited when the gases exploded.
c. When the spark plug ignites, the gases explode.

5.9T0 YCTpOWCTBO MpPeoOpa3oBai0 CHUTHAIIBI BBICOKOW YacCTOTHI
B HU3KOYAaCTOTHBIC.
a. These signals are converted by this device from high frequency to
low frequency.
b. This device converted high frequency signals to low frequency.
c. This device converts high frequency signals to the low ones.

5. Match up the reports (1-5) with what the people actually
said (a—e):

1. «OKk, said the mechanic, «I’1l repair your car tomorrow».

2. «Would you like to check the engine of your car?» — asked the
chief engineer.

3. «I will not paint the damaged door of his car» — said the car me-
chanic.

4. «Sorry, I haven’t examined the fuel system yet» — said the re-
pair man.

5. «Oh, you have the oil leak under the car» — said the fuel guy to
the customer.

a. He informed.
b. He admitted.
c. He agreed.
d. He refused.
e. He offered.
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6. Replace the words underlined in each sentence (1-5) with
a word or a phrase (a—e) given below:

1. Only the framework of the building stood after the fire.

2. The wooden beams from a rigid structure to support a roof.

3. The survey examined the impact of current modernization with
in the construction industry.

4. They managed to solve the technical aspects of doming that
building.

5. They installed a productive covering that forms the top of the
building.

a) innovation
b) roof

c) truss

d) support

e) shell

7. Complete the following dialogue by choosing the missing lines
from the phrases given below.

A (D) ...

B: Hello. I’d like some information about your new mobile phone,
please.

A (2)...

B: Yes, please. Do you think you will send it by email?

A:...(3)...?

B: Yes, that’s fine.

Ar...(4)...?

B: Yes, it’s.

A:...(5)...?

B: Thanks. I’ll send it today.

a. Certainly. Would you like me to send you a brochure?

b. Of cause. Shall I send it as a Word attachment?

c. Right. I'll send it today.

d. Mobile Express. This is Customer Service, Robert speaking.
How can I help you?

e. Good. So, could I have your email address, please?
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Kountpoabsnasa pabdora Ne 3
(1151 OmoJIorHYecKuX cnenuaabHocreii, BM)

I BAPUAHT

1. Read the following text.

Match the headings (1-7) with the paragraphs (a—g). Translate C,
F, G paragraphs in written form.

1. The sources of anthrax spores.

2. The cases of becoming anthrax bacilli a potential source of infec-
tion to others.

3. The causes of this illness (anthrax).

4. The creator of the first effective vaccine for anthrax.

5. Effective measures of decontamination of sources of infection.

6. The way of infecting humans by anthrax.

7. The measures of decontamination of things and people.

a. Anthrax is an acute disease caused by the bacterium Bacillus an-
thracis. Most forms of the disease are lethal, and it affects both humans
and other animals. There are effective vaccines against anthrax, and
some forms of the disease respond well to antibiotic treatment.

b. Like many other members of the genus Bacillus, Bacillus an-
thracis can form dormant endospores (often referred to as «spores» for
short, but not to be confused with fungal spores) that are able to survive
in harsh conditions for decades or even centuries. Such spores can be
found on all continents, even Antarctica.

c. Anthrax commonly infects wild and domesticated herbivorous
mammals that ingest or inhale the spores while grazing. Ingestion is
thought to be the most common route by which herbivores contract an-
thrax. Carnivores living in the same environment may become infected
by consuming infected animals. Diseased animals can spread anthrax to
humans, either by direct contact or by consumption of a diseased ani-
mal's flesh.

d. Anthrax spores can be produced in vitro and used as a biological
weapon. Anthrax does not spread directly from one infected animal or
person to another; it is spread by spores. These spores can be transport-
ed by clothing or shoes.
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e. Until the twentieth century, anthrax infections killed hundreds
and thousands of animals and people each year in Australia, Asia, Afri-
ca, North America, and Europe, particularly in the concentration camps
during World War II. The French scientist Louis Pasteur developed the
first effective vaccine for anthrax in 1881. Anthrax infection is now
relatively rare in domestic animals, with only a few dozen cases report-
ed every year. Anthrax is especially rare in dogs and cats.

f. Anthrax can enter the human body through the intestines (inges-
tion), lungs (inhalation), or skin (cutaneous) and causes distinct clinical
symptoms based on its site of entry. In general, an infected human will
be quarantined. However, anthrax does not usually spread from an in-
fected human to a noninfected human. Inhalational anthrax, if left un-
treated until obvious symptoms occur, may be fatal.

g. Anthrax cannot be spread directly from person to person, but a
patient's clothing and body may be contaminated with anthrax spores.
Effective decontamination of people can be accomplished by a thorough
wash-down with antimicrobial effective soap and water.

Early antibiotic treatment of anthrax is essential-delay significantly
lessens chances for survival.

Treatment for anthrax infection and other bacterial infections in-
cludes large doses of antibiotics.

Translate the following statements and find the terms in the text:

1. A condition of a human when he/she doesn’t feel well. It is
caused by the infection or inner disturbance in the organism.

2. A unit of heredity occupying a specific place in the chromosome.

3. A number of measures in order to improve human’s health

4. A remedy which prevents infectious disease

5. An organism on or in which a parasite exist

Find the words in the text which are similar to the words given bel-
low. Translate the words.

1) cure

2) mortal

3) sharp

4) general

5) illness

6) to propagate

7) to create
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2. Put the words in the right order to produce the correct sen-
tences and translate them.

1. The, who, anthrax, for, first, developed, vaccine, effective?

2. Does, disease, in, anthrax, not, typically cause, carnivores.

3. Especially, rare, is, anthrax, dogs ,in, cats, in?

4. Vaccine, the, did, louis pasteur, when, first, develop, effective,
for, anthrax?

5. One, spread, not, anthrax, does, from, infected, , person, another, to.

6. Disease, are, most, of, forms, the, lethal.

7. Affects, this, humans, other, both, animals, and, disease.

8. Can, spores, anthrax, be, used, weapon, as, biological, a.

9. Can, anthrax, diseased, spread, humans, to, animals.

10. Vaccines, there, effective, against, are, anthrax

3. Match each sentence opener (1-5) with a suitable ending
(a—e). Translate the sentences.

1. Anthrax cannot be ...

2. Anthrax does not spread ...

3. Due to animal vaccination ...

4. Diseased animals can spread ...

5. If the disease is fatal ...

a) anthrax infection is now relatively rare in domestic animals.

b) to the person’s body, special precautions should be used to pre-
vent further contamination.

c¢) spread directly from person to person programs in some countries.

d) from one infected animal or person to another.

¢) humans, either by direct contact or by consumption of a dis-
eased animal’s flesh.

4. Choose the correct variant of translation the sentence into
English.
1. 3a MUTHHTOM TIOCJIEI0BAJ OOJIBIIION KOHIIEPT.
a. The meeting was followed by the great concert.
b. The meeting will take place next month
c. The actors of our theatre often give concerts to people of our town.
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2. O0cyxIeHre 3TOro BOmpoca OyIeT 3aKOHYCHO K KOHILY CIeIy-
FOIIEY HENETH.
a. We have already finished the discussion of this problem.
b. The discussion of this problem will have been finished by the end of
the next week.
c. They discussed this problem last month.

3. CooOmiaroT, 4To Jeyeranys npruoyaeT K KOHIY He eI .
a. They report the delegation to have arrived by the end of the week.
b. The delegation is reported to have arrived by the end of the week.
c.The delegation has already arrived.

4. Mowu poaurtenu poaunuchk B Poctore-na-/[oHy, 1 HUKOTAa HE TIO-
KHJaJu €ro.
a. My parents were born in Rostov-on-Don and have never lived any-
where else.
b. My parents were born in Rostov-on-Don and are still living there.
c. My parents were born in Rostov-on-Don and have never left it.

5. C xakoi CKOpPOCTBIO BBl €Xalld, KOT/Ia MPOMU30IIE] HECYACTHBIN
ciyJai?
a. How fast did you drive when an accident happened?
b. How fast were you driving when an accident happened?
c. How fast have you been driving when an accident happened?

5. Match up the reports (1-5) with what the people actually said
(a—e), give the translation of the final sentences.

1. «<How old are you?» — he asked. ...

2. «You must consult a doctor» — she told me. ...

3. «Did the train has arrived according to the schedule?» — he
asked. ...

4. «We are going to give the charity concert. Will you sponsor it,
Mr. Brown?» ...

5. «I’ve bought a new car. It’s very expensive. Nobody in our town
has such car».

a. ... He agreed to sponsor the charity concert. «I’d love to» — he
answered.
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.. She advised me to consult a doctor.
.. He boasted his new car.

.. He wanted to know how old I was.

.. He inquired if the train was in time.

oo o

6. Replace the words underlined in each sentence (1-5) with a
word or a phrase (a—e) given below and translate the sentences.

1. Up to the 1970s most New Yorkers hated graffiti, considering it
as an eyesore that was illegal and punishable by fines.

2. New Yorkers used to see the graffiti on the walls of poor neigh-
bourhoods and subway as something menacing

3. The Groninger Museum in Holland is one of the few museums in
the world that displays and recognizes graffiti as an art form.

4. The trend was short-lived until the arrival of hip-hop music in the
late 80s.

5. In the early 1980-s , there was a real craze for graffiti art.

a) acknowledges
b) ugly

c) threatening
d) fashion

e) classy

7. Complete the following dialogue by choosing the missing lines
from the phrases given below and translate the dialogue.
A: Good morning. What can I do for you?

B:...(1)...

A: Are you flying alone, sir?

B:...(2) ...

A: Just a moment, sir. There are a few seats left.
B:...(3) ...

A: What is your name, sir?

B:...(4) ...

A: It’s thirty two thousand and five hundred rubles including airport
taxes.

B:...(5) ...

A: Thank you very much.
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a. O.K. How much is it?

b. Fine.

c. Yes.

d. T want to fly to London. Are there any seats available on
Wednesday?

e. Andrey Petrov.

II BAPUAHT

1. Read the text.

Match the headings (1-7) with the paragraphs (a—g):
. Feasible vaccine.

. The way of eradication of the disease.

. Symptoms of the disease.

. Agent of African swine fever.

. Regions of spreading ASF.

. What does DNA virus causes?

. The role of protein.

NN B WN

a. African swine fever virus (ASFV) is the causative agent of Afri-
can swine fever (ASF) The virus causes a lethal haemorragic disease in
domestic pigs. Some isolates can cause death of animals within as little
as a week after infection. In all other species, the virus causes no obvi-
ous disease. ASFV is endemic to sub-Saharan Africa.

b. African swine fever was restricted to the continent that bears its
name until 1957, when the disease was reported in Lisbon, Portugal.
A further outbreak occurred there in 1960. Subsequent to these initial
introductions, the disease became established in the Iberian Peninsula
and sporadic outbreaks occurred in France, Belgium and other European
countries during the 1980s. Both Spain and Portugal had managed to
eradicate the disease by the mid 1990s through a slaughter policy. Dur-
ing the late 1970s, ASFV crossed the Atlantic Ocean and outbreaks
were reported in some Caribbean islands, including Cuba and the Do-
minican Republic. The most recent outbreak of ASF outside Africa
started at the beginning of 2007 in Georgia, and has since spread to the
countries of Armenia, Azerbaijan, Iran and Russia.

c. The clinical symptoms of ASF are very similar to classical swine
fever virus, and the two diseases normally have to be distinguished by
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laboratory diagnosis. The swelling around the kidneys and the muscle
hemorrhages are typical of pigs with African swine fever.

d. ASFV is a large, double-stranded DNA virus with a genome con-
taining at least 150 genes. The number of genes differs slightly between
different isolates of the virus. ASFV has similarities to the other large
DNA viruses. The virus causes a haemorragic fever with high mortality
rates in pigs, but persistently infects its natural hosts, warthogs, bush
pigs and soft ticks.

e. African swine fever is an economically important haemorrhagic
fever of domestic pigs which is caused by a large DNA virus (ASFV).
Virus isolates vary in virulence, the most virulent isolates causing
100 % mortality. Pigs that recover from infection may remain persis-
tently infected for long periods.

f. The ASFV genome encodes 160 to 175 proteins including en-
zymes required for replication and transcription of the virus genome and
virus structural proteins. The virus also encodes proteins, which are not
essential for virus replication in cells, but play roles in virus host inter-
actions that are important for virus survival and transmission in its
hosts. No vaccine is available against ASF.

g. Improved understanding of ASFV genes involved in virulence
and immune evasion have made the development of a rationally attenu-
ated ASFV vaccine feasible. A strategy has been developed to delete
these and other genes from the genome of the Benin 97/1 isolate.

Translate the following statements and find the terms in the text:

1. An organism on or in which a parasite exists.

2. A remedy which prevents infectious disease.

3. A unit of heredity occupying a specific place in the chromosome.

4. Resistance to certain infectious disease.

5. The ability of a given microorganism to cause disease in the cer-
tain host.

Find the words in the text which are similar to the words given bel-
low. Translate the words.

1) illness

2) to restrain

3) to eliminate
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4) to extend
5) recognized
6) substantial
7) evolution

2. Put the words in the right order to produce the correct sen-
tences and translate them.

1. Very, the, of, ASF, are , clinical, similar, swine, symptoms, virus,
fever, classical, to.

2. Fever, the, causes, with, mortality, virus, with, rates, in, high, pigs.

3. Persistently, pigs, remain, for, may, long, infected, periods?

4. No, currently, is, vaccine, against, available, ASFV.

5. Typical, the, are, swelling, the, around, of, with, pigs, fever,
swine, African, kidneys?

6. He, offered, contracts, had, been, big, by, companies, sporting.

7. Throughout, with, cancer, his, battle, but, Armstrong, deter-
mined, was, to let, not, battle with, beat, him, was.

8. We, should, I, think, set up, an, program, education.

9. Said, the, conference, a, United Nation, had been, representative,
to reach, organized, on, reducing, agreements, emissions.

10. Sign, we, will, any, agreements, not, pollution

3. Match each sentence opener (1-5) with a suitable ending (a—e):
1. Young people like ...

2. Some schools insist on ...

3. A lot of young people have ...

4. There is more and more ...

5. The computer is ...

a) ... violence on TV.

b) ... their students wearing uniforms.

c) ... tattoos on their bodies.

d) ... wearing expensive designer clothes.

e) ... becoming an essential part of every household.
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4. Choose the correct variant of translation the sentences into
English:

1. /IewkeHre OBLIO OYEHb WHTCHCUBHBIM, HO HaM yJIajoch JIO-
OpaThbCs 710 a3pOTIopTa BOBPEMSL.
a. There is a lot of traffic but we managed to get to the airport in time.
b. There was a lot of traffic but we managed to get to the airport in time.
c. There was a lot of traffic but we had managed to get to the airport in
time.

2. bonbmias yacTh 36MHOM OBEPXHOCTH MTOKPHITA BOJOM.
a. Water covers most of the Earth's surface.
b. Most of the Earth’s surface has been covered by water.
c. Most of the Earth’s surface is covered by water.

3. Coo0IiaT, 4T0 MHOTHE JIOAW OCTAIMCh O€3JOMHBIMHU IIOCIIE
HABOJHCHMUA.
a. They report many people to have been homeless after the floods.
b. Many people are reported to be homeless after the floods.
c. Many people report they are homeless after the floods.

4. Cxonpko meec Harmcan [lexkcrmp?
a. How many plays has Shakespeare written?
b. How many plays did Shakespeare write?
c. How many plays had Shakespeare written?

5. Anpbept DUHIITEHH OBUT YYEHBIH, KOTOPBIA CO3/Iall TEOPHUIO OT-
HOCHUTEJIBHOCTH.
a. Albert Einstein has been the scientist who has developed the theory of
relativity.
b. Albert Einstein was the scientist who developed the theory of relativity.
c. Albert Einstein was the scientist who had developed the theory of rel-
ativity.

5. Match up the reports (1-5) with what the people actually said
(a—e), give the translation of the final sentences.

1. The salesperson advised her to buy a blue skirt.

2. Mr. Adams advised William to play football in the park, not out-
side his house.
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3. Mr. Philips ordered David Smith not to take the bag.
4. The police officer ordered him not to shoot.
5. The groom asked the guests at the wedding to take their hats off.

a) «If I were you, I’d buy the blue skirty.

b) «If I were you I would play football in the park, not outside my
house».

c) «Will guests be pleased take their hats off in church at the
weddingy.

d) «Hey! David Smith! Don’t take that bagy.

e) «Don’t shooty.

6. Replace the words underlined in each sentence (1-5) with a
word or a phrase (a—e) given below and translate the sentences.

1. My cousin gets on with most people.

2. Mary puts up with a lot of criticism

3. Tom is good at art and would like to take up photography.

4. I know it’s bad news but don’t let it get you down.

5. He always puts her down in front of the children.

a) tolerate

b) have a good relationship with
c) depress

d) criticize someone

e) start doing

7. Complete the following dialogue by choosing the missing lines
from the phrases given below and translate the dialogue.
H: Hello, Bob!

B:...(1) ...

H: Thank you. I’'m happy to see you. It’s a pleasant surprise.
B:...(2)...

H: So-so.

B:...(3) ...

H: Nothing special. I’'m just in low spirits. So stale is the world.
B:...(4) ...

H: Thank you, Bob. Perhaps, you’re right.

B:...(5) ...
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a. Is anything wrong?

b. It’s kind of you to say so. How are you?

c. Hello, Harry! It’s nice to see you safe and sound.

d. Oh, my man! Never mind it such is life. It’s stale today and
cheerful tomorrow.

e. So long!

III BAPUAHT

1. Read the text.
Match the heading (1-7) with the paragraphs (a—g). Translate E, F,
G paragraphs in written form.
1. What is typhoid fever?
. Sources of infection.
. Salmonella symptoms.
. The beginning of an infectious process.
. When do sever symptoms of the disease appear?
. The route of spreading disease.
. Vaccine against Salmonella.

~N N AW

a. Salmonellosis is an infection with Salmonella bacteria. Most
people infected with Salmonella develop diarrhea, fever, vomiting,
and abdominal cramps from 12 to 72 hours after infection. In most cas-
es, the illness lasts from 4 to 7 days and most people recover without
treatment. However, in some human's cases the diarrhea may be so se-
vere that the patient becomes dangerously dehydrated and must be taken
to a hospital. In severe cases, the Salmonella infection may spread from
the intestines to the blood stream and can cause death unless the person
is treated promptly with antibiotics.

b. The type of Salmonella usually associated with infections in hu-
mans is nontyphoidal Sa/monella. 1t is usually contracted from sources
such as: poultry, pork and cattle; infected eggs, egg products and milk;
reptiles such as turtles, lizards and snakes, which may carry the bacteria
on their skin; pet rodents; tainted fruits and vegetables.

c. A form of Salmonella named typhoidal Salmonella can lead
to typhoid fever. Typhoid fever is a life-threatening illness and about
400 cases are reported each year in the United States, and 75 % of the-
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se are acquired while traveling internationally. It is carried only by
humans.

d. Both salmonellosis and the Salmonella genus of microorganisms
derive their names from a modern Latin after Daniel E. Salmon (1850—
1914), an American veterinary surgeon. He had help from Theobald
Smith, and together they found the bacterium in pigs.

e. The bacterium induces responses in the animal that it is infected,
and this is what typically causes the symptoms, rather than any direct
toxin produced. Symptoms are usually gastrointestinal, including nau-
sea, vomiting, abdominal cramps and bloody diarrhea with mucus.
Headache, fatigue and rose spots are also possible. These symptoms can
be severe, especially in young children and the elderly. Symptoms last
generally up to a week, and can appear from 12 to 72 hours after ingest-
ing the bacterium.

f. An infectious process can begin only after living salmonellae (not
only their toxins) reach the gastrointestinal tract. Some of the microor-
ganisms are killed in the stomach, while the surviving salmonellae enter
the small intestine and multiply in tissues (localized form). By the end
of the incubation period, the microorganisms are poisoned by endotox-
ins that are released from the dead salmonellae.

g. Salmonella antibodies were first found in Malawi children in re-
search published in 2008. The Malawian researchers have identified an
antibody that protects children against bacterial infections of the blood
caused by Salmonella. A study of 352 children at Blantyre's Queen
Elizabeth hospital found that children up to two years old develop anti-
bodies that aid in killing the bacteria. The researchers proposed that this
could lead to a possible Salmonella vaccine.

Translate the following statements and find the terms in the text:

1. The multiplying of strange organisms in the body of a host or-
ganism.

2. A remedy which prevents infectious disease.

3. A unit of heredity occupying a specific place in a chromosome.

4. An organism on or in which a parasite exists.

5. A number of measures in order to improve human’s health.
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Find the words in the text which are similar to the words given bel-
low. Translate the words.

1. Investigation.

2. To inform.

3. To menace.

4. To assist.

5. To liberate.

6. Investigator.

7. To propagate.

2. Put the words in the right order to produce the correct sen-
tences and translate them.

1. In, the, Salmonella infection, severe, can, cases, death, cause.

2. Is, typhoid, a, illness, fever, life-threatening.

3. Does, salmonellosis, whom, its, derive, after, name?

4. Americans, about, are, 142000, each, from, infected, year, eggs,
chicken.

5. Of, are, disease, this, what, the, symptoms?

6. Forms, the, are, some, disease, of, lethal.

7. An infectious process, reach, only, after, begin, can, living sal-
monellae, tract, the, Gastrointestinal?

8. A week, do, symptoms, last, less, not, than.

9. Symptoms, fatigue, and, headache, also, rose sports, of, are, dis-
ease, the.

10. Disease, is, this, not, only, humans, by, carried.

3. Match each sentence opener (1-5) with a suitable ending (a—e).
1. If you don’t want to go out tonight, ...

2. You can read magazines ...

3. If you need some more money, ...

4. I can read music ...

5. My favourite record ...

a) ... while you are waiting for a dentist.
b) ... I’'ll go to the bank and get some.
¢) ... we’ll stay in and eat a pizza.
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d) ... butIcan’tsing.
e) ... 1s a Bob Marley album.

4. Choose the correct variant of translation.
1. OHU ¢ HEeTepIICHUEM KIYT BO3MOXHOCTH OOCYIUTh ¢ HAMH 3TOT
BOIIPOC.
a. They are looking forward to discussing this problem with us.
b. They are looking forward to discuss this problem with us.
c. They are looking to discussing this problem with us.

2. CooOmaroT, 4To Jieneramys NpuoyAeT K KOHITY HeJICIH.
a. The delegation is reported to arrive by the end of the week.
b. The delegation is reported to have arrived by the end of the week.
c. They report the delegation to arrive by the end of the week.

3. C xakoi CKOpPOCTBIO BBl €Xalld, KOT/1a MPOMU30IIe] HECYACTHBIN
ciydau?
a. How fast did you drive when an accident happened?
b. How fast were you driving when an accident happened?
c. How fast have you been driving when an accident happened?

4. Mowu pogurenu poaunrck B KpacHonape, 1 HUKOTa HE TOKHU/A-
JIH €ro.
a. My parents were born in Krasnodar and have never left it.
b. My parents were born in Krasnodar and didn’t ever leave it.
c. My parents were born in Krasnodar and never left it.

5. Cxonpko mhec Hamucan [llexcrmp?
a. How many plays has Shakespeare written?
b. How many plays did Shakespeare write?
c. How many plays had Shakespeare written?

5. Match up the reports (1-5) with what the people actually said
(a—e), give the translation of the final sentences.

1. The school officials admitted that they might need to limit finan-
cial aid to handful of students

2. The policeman accused Tom of committing of a serious offence.
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3. The new Prime Minister insisted that prices had risen under the
previous government.

4. My pen friend agreed to show me the sightseeings of the town.

5. The teacher explained that butter melts in the heat.

a) «Prices rose dramatically under previous governmenty.

b) «Butter melts in the heaty.

c) «Tom, you have committed a serious offence».

d) «We may need to limit financial aid to a handful of studentsy.
e) «OK, I will show you the places worth seeing in our towny.

6. Replace the words underlined in each sentence (1-5) with
a word or a phrase (a—e) given below and translate the sentences.

1. She always puts him down in front of the children.

2. My friend gets on with most people.

3. I’'m sure it’s bad news but don’t let it get you down.

4. New Yorkers used to see the graffiti on the walls of poor neigh-
bourhoods as something menacing.

5. The trend was short-lived until the arrival of hip-hop music in the
late 80’s.

a) threatening

b) fashion

c) criticize

d) have a good relations with
e) depress

7. Complete the following dialogue by choosing the missing lines
from the phrases given below and translate the dialogue:

A: Where are you from, Mr. Flint?

B:...(1)...

A: What are you, Mr. Flint? Are you a farmer?

B:...(2)...

A: It is interesting.

B:...(3) ...

A: Oh, it is curious. But what are you really, I wonder?
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B:...(4) ...
A: Aha! You are an actor, aren’t you?
B:...(5) ...

a. No, I’m not, though sometimes I am a farmer.

b. I’'m from Australia, a small continent and a big island at the
same time.

c. Yes, sometimes [ am an army or a naval officer.

d. I am an actor in different lines.

e. At one time I am a doctor and at another a patient.
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PA3JAEJ 3
Kountposbnas padora Ne 4
(17151 IKOHOMHUYECKUX crnenunagabHocrei, FMY)

I BAPUAHT

I. Look at the following messages. Choose the correct variant
for each message.
1. Opening soon:
a. The shop is open already.
b. The shop will open in the near future.
c. The shop opened recently.

2. Closing down sale:
a. The shop will stop business soon so they are selling all the products at
a discount.
b. The shop will stop doing business soon.
c. The shop is selling all its products at very low prices.

3. Our offices are situated in the city centre, between the Hydro Ho-
tel and the main railway station — about five minutes on foot from each.
a. The Hydro Hotel is not very convenient for getting to our offices as it
is quite far away.

b. If you arrive by train, it is very easy to walk to our offices.
c. There are many hotels in the city centre.

4. Cash only. No credit
a. We can give you cash for this product.
b. You can pay with a credit card, if you don’t have enough cash.
c.We don’t accept payment with plastic.

5. If you are absent from work because of illness, you must provide
a note from your doctor after three days.
a. If your doctor does not send us a note, please remind his.
b. If you are ill for more than three days, you must get a doctor’s note.
¢. You can only stay away from work for three days.
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6. Over the last ten years we have concentrated on the domestic
market. Now, it is important to look for customers abroad in order to
develop the export market.

a. Now we are going to look for foreign customers.
b. For the last ten years we have focused on exports.
c. It is easier to sell our products abroad than at home.

II. Choose the word or phrase which best completes each sentence.
1. This product will help you to achieve and maintain ... perfor-
mance by helping you to focus on these targets which can be met in the
short term.
a) pinnacle;
b) summit;
¢) peak;
d) tip.

2. The launch of Z21 will herald a new era for our products. Of
course, it means the gradual ... of the Z20 range.
a) phasing out;
b) phasing away;
¢) phasing back;
d) phasing down.

3. With her exceptional ... in sale, she has to be the best candidate
for the job.
a) history record;
b) profile record;
¢) track record;
d) background record.

4. With the type of investment account, interest ... on a daily basis
is added to your account at the end of each quarter.
a) accumulates;
b) accrues;
C) grows;
d) occurs.
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5. Studies regularly show that at least 50 per cent of ... and Rework
costs could be avoided if the process is executed correctly.
a) rubbish;
b) rash;
c) waste;
d) scrap.

6. ... protection lasts for ten years beginning on the filling date of
the application. This may be extended for a further period of ten years.
a) Brand;
b) Trademark;
c¢) Mark;
d) Brandmark.

III. Read the announcement about two major companies.
Choose the best word to fill each space from the word below.

We are pleased to announce the (1) ... between AST and Global
Securities. This move brings together two major players in international
finance. The combined (2) ... of the new company will be in the region
of $ 56 billion. Clearly, this will put us in a very strong position and will
bring major benefits to our many investors. And with our new partner,
we expect to see a steady increase in (3) ... during the next five years.
The new name of the (4) ... will be AST-Global — a recognition of the
contribution of both companies. Unfortunately, our (5) ... to take over
SemFin was rejected by the shareholders. However, have not given up
and expect to make another attempt to buy up this global brand in the
future.

1. a) fusion b) union Cc) merger d) combination
2. a) goods b) assets c) credits d) actives

3. a) liabilities b) incomings c) earning d) turnover

4. a) consortium  b) mother ¢) branch d) subsidiary
5. a) proposition  b) bid c¢) suggestion  d) offering

IV. Choose the word or phrase which best complete each sen-
tence.
1. How often ... The US?
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a) calls she;

b) is she call;

¢) does she calls;
d) does she call.

2. Last week Peter Brown came to work late three times. Because of
his bad ... we have given him a warning.
a) manners;
b) behavior;
¢) actions;
d) comportment.

3. ... call me when you have an information?
a) You can to;
b) Can to;
¢) Can you to;
d) Can you.

4. As we have established a good name for our products, we will
keep the same ... image for the new model.
a) brand;
b) make;
c) sort;
d) trade.

5. This report is very important. You ... in your comments by the
end of the week.
a) should send;
b) have to send;
¢) should have send;
d) should have sent.

6. If you go to our ..., you will find the goods that you ordered are
ready for collection.
a) warehouse;
b) store building;
¢) storing house;
d) distribution building.
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V. A colleague has given you this letter to check.

In some lines there is one wrong word.

If there is a wrong word, write the correct word on your Answer
Sheet. If there is no mistake, put a tick (V) on your Answer Sheet.

Dear Mr. Abrahams

... I refer to our invoiced dated 14 September, which has still not
been pay. ... According to our records, you have received the goods
on 18 September in your warchouse ... We have the signed delivery
form to support this ... Despite of many requests for payment, you
have refused to pay the amount owing ... If we did not receive full
payment within14 days we will ... instruct our solicitors claiming this
money through the courts ... We hope, however, this action will not
be necessary.

Yours Sincerely

Peter Bradlay

VI. Read the article below about internet shopping and answer
the questions. Choose the correct variant.

Safe Shopping On The Internet

The increasing availability of the internet and digital TV mean that
it’s now even easier to shop without leaving your home. But as a con-
sumer, you should still take care when paying for goods and services.

Before you buy make a note of the company’s contact details, in-
cluding a street address and landline telephone number. Never rely on
just an email address. You should also remember that you may have to
pay for shipping costs, customs duty, VAT, etc. All these hidden costs
can push the price of the goods or service. It should be quite clear if you
are expected to pay any extract costs and VAT should be included in all
prices quoted.

Paying for goods online. It may be worth paying by credit card.
If the goods or services you are buying cost over 100pounds and pay
credit card, you may be protected by the Consumer Credit Act. This
states that the credit card company is equally liable for any defects.
Therefore, should a problem arise, you can claim either from the trader
or from the credit card company.
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Note that for this protection to apply, the contract price must be
over 100 pounds. For example, if you buy a suit, the jacket of which
costs 75 pounds and the trousers cost 40 pounds, you would have pro-
tection. However, if you bought the items separately instead of as one
suit, you would not be afforded the same protection as neither of the
items amount to 100 pounds.

Problems can arise when the company you are buying from is based
outside the EU. For example, a guarantee may not be valid in the UK, or
the goods may not work in the UK. Although UK law may cover your
contract, in practice it might be difficult to get money out of a company
based abroad.

Top tips

— Make sure that the web address of the page starts https:// before
you enter any personal information or payment details. The «s» stands
for «secure». There should be a small padlock that appears in the bot-
tom of your screen.

— Always print out a copy of your order and copy of the acknowl-
edgement that you should receive.

— Always check your bank statements carefully if you purchase
something on the internet.

— You should never be asked to tell anyone your card’s PIN num-
ber, even if they claim to be from your bank or the police. Never send
your PIN number to anyone over the internet.

What to do if things go wrong?

If you by goods on the internet, you still have the same rights as if
you were shopping on the high street, in relation to faulty or poorly de-
scribed goods.

In addition, you are entitled to a seven working-day «cooling off»
period, as described in the “distance selling” section of the factsheet
«Your right to cancel».

1. The text is:
a) a warning to readers about the dangers of internet shopping;
b) an instruction to shoppers about the steps which must be followed
when shopping on the internet;
¢) an advertisement produced by a trader to help future shoppers;
d) a recommendation about how to buy online.
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2. According to the text, which of the following should you do be-
fore you make an online purchase?
a. Make a note of the seller’s email address.
b. Check that the final price includes all additional casts, such as deliv-
ery and taxes.
c. Make sure that your bank statement is up-to-date.
d. Print out the copy of the goods that you intend to buy.

3. As UK citizen you can get protection from your credit card com-
pany if you buy Goods:
a) in the EU which turn out to be faulty;
b) with a valid guarantee;
¢) at home which cost more than 100pounds;
d) at home which cost less than 100pounds.

4. What two features show a shopper that a merchant’s site is safe?
a) two letters;
b) two pictures;
c) one letter;
d) one letter and one picture.

5. What should never be sent by internet?
a) personal information;
b) payment details;
c) PIN;
d) bank statements.

6. When customers buy goods on the internet, they have:
a) more rights than a higher street shopper;
b) the same rights as a high street shopper;
c) fewer rights than a high street shopper;
d) poor rights compared to a high street shopper.

II BAPUAHT

I. Look at the following messages. Choose the correct variant
for each message.
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1. No entry:
a. This is a private road.
b. The door is locked.
c.You must not go in.

2. The meeting has been cancelled.
a. We will need to fix another one.
b. Let’s take a look at the first item on the agenda.
c. That brings us to the end of the meeting.

3. The easiest way to get to my office is to take a taxi from the airport.
a. We will send a car to collect you from the airport.
b. Always take taxis because they are the safest way to travel here.
c. If you decide to come by plane, I recommend that you take a cab to
my office.

4. Sales have increased by 15% over the last quarter.
a. During the last three months sales have gone up.
b. Sales have risen since the beginning of the year.
c. We have made a profit of 15% over the last quarter.

5. Please note the following changes to the sales team: two new
salespeople will join the central region sales team (one of whom will
move from the southern region) three new salespeople to join the north-
ern region sales team:

a. Altogether we are going to take on five new salespeople.
b. Altogether there will be three salespeople in the central region.
c. Altogether we are going to take on four new salespeople.

6. Please make sure you complete all the paperwork and documen-
tation before you take any goods out of the warehouse.
a. After you have taken the goods from the warehouse, remember to fill
in the forms.
b. We store all the paperwork and documentation in the warehouse.
c. We have strict security at the warehouse. You can’t take any goods
without filling in the forms.
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7. As a result of recent losses, we now have to reduce the workforce.
a. We must look for new employees.
b. We must cut the number of employees.
c. Because some people have just left the company, we lost a lot of
money.

IL. Choose the word or phrase which best complete each sentence.
1. We ... from that company now as their prices are very expensive.
a) don’t buying;
b) doesn’t buy;
¢) are not buying;
d) not buying.

2. After three years in the company, we normally expect all employ-
ees in this department to apply for ... to the next level.
a) help;
b) support;
¢) promotion;
d) advance.

3. How much ... the product cost next year?
a) will;
b) will be;
¢) do;
d) is.

4. After a bad year, I must tell you that our ... . Have risen to a very
high level. Sadly, I think that the company must close.
a) credits;
b) debts;
c) profits;
d) debtors.

5. If they ... the products from us, we would have offered them a
discount.
a) would buy;
b) would have bought;
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¢) had buy;
d) had bought.

6. As we manufacture many different products, we usually use a ...
production process.
a) group;
b) batch;
c) set;
d) bunch.

III. Read the memo about supply and distribution. Choose the
best word to fill each space from the words below.
The following terms and conditions apply to the supply of all
(1) ... and parts. In the event of damage during transportation, all goods
must be returned in their original packaging. The cost of (2) ... the gods
to us shall be paid by the customer. In addition, we shall not be liable
for the goods during transportation or during (3) ... . All goods come
with a 24-months warranty. The warranty will only be effective if the
item has been regularly (4) ... . In addition, if the part has been fitted in
(5) ... made by another manufacturer without out permission, then the
warranty shall be invalid.

1. a) equipments  b) components c¢) bits d) pieces

2. a) shipping b) carrying ¢) transportation d) deliver

3. a) factoring b) storage c) stock d) store

4. a) held b) kept ¢) preserved d) maintained
5. a) layouts b) equipments  ¢) machinery d) machineries

IV. Read the article below about starting a small business and
answer the questions. Choose the correct variant.

How To Start A Small Business

Starting and managing a business takes motivation, desire and tal-
ent. It also takes research and planning.

Like a chess game, success in small business starts with decisive
and correct opening moves. And, although initial mistakes are not fatal,
it takes skill, discipline and hard work to regain the advantage.
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To increase your chance for success, take the time up front to ex-
plore and evaluate your business and personal goals. Start by asking
yourself: Is entrepreneurship for you?

There is no way to eliminate all the risks associated with starting a
small business. However, you can improve your chances with good
planning and preparation. A good starting place is to evaluate your
strengths and weaknesses as the owner and manager of a small business.
Carefully consider each of the following questions.

Are you a self starter? It will be up to you, not someone else telling
you to develop projects, organize your time and follow through on details.

How well do you get along with different personalities? Business
owners need to develop working relationships with a variety of people
including customers, vendors, staff, bankers and professionals such as
lawyers, accountants or consultants. Can you deal with a demanding cli-
ent, an unreliable vendor or cranky staff person in the best interest of
your business?

How good are you at making decisions? Small business owners are
required to make decisions constantly, often quickly, under pressure and
independently. Do you have the physical and emotional stamina to run
a business? Business ownership can be challenging, fun and exciting.
But it’s also a lot of work. Can you face twelve-hour work days, six or
seven days a week?

How well do you plan and organize? Research indicates that many
business failures cold have been avoided through better planning. Good
organization of financials, inventory, schedules and production can help
avoid many pitfalls. Is your drive strong enough to maintain your mo-
tivation? Running a business can wear you down. Some business own-
ers feel burned out by having to carry all the responsibility on their
shoulders. Strong motivation can make the business succeed and will
help you survive slowdowns as well as periods of burnout.

How will the business affect your family? The first few years of
business start-up can be hard on family life. The strain of an unsupport-
ive spouse may be hard to balance against the demands of starting a
business. There may also be financial difficulties until the business be-
comes profitable, which could take months or years. You may have to
adjust to a lower standard of living or put family assets at risk.

It’s true, there are a lot of reasons not to start your own business.
But for the right person, the advantages of business ownership far out-
weigh the risks.
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1. What does the author compare starting a small business with?
a) research;
b) chess;
¢) motivation;
d) talent.

2. What should a prospective entrepreneur do before setting up a
new business?
a) identify targets;
b) make a decisive start;
¢) take time to assess the possibilities;
d) avoid making mistakes.

3. What two Ps reduce the risk of failure when setting up a new
business?
a) personal goals and profitability;
b) personality and physical stamina;
¢) planning and preparation;
d) potential and professionalism.

4. According to the author, which of the following personal charac-
teristics is not important for starting a small business?
a) adaptability;
b) decision-making;
¢) motivation;
d) personality.

5. What skill is inventory planning associated with?
a) physical strength;
b) organization;
¢) flexibility;
d) relationship building.

6. Why might the initial period of a new business be particularly
difficult on the family front?
a) because it requires physical and emotional strength;
b) because it requires sustained motivation;
¢) because the husband/wife may not be helpful;
d) because of the risk of exhaustion.
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V. Choose the word or phrase which best completes each sentence.
1. AS System today announced a definite agreement to ... MM
Development in an all-stock transaction valued at approximately
$ 3.4 billion.
a) obtain;
b) gain;
¢) acquire;
d) attain.

2. In economics terms, goods are considered to be ... if we consume
more of them than are available.
a) sparse;
b) scarce;
c) rare;
d) meager.

3. Investment advisers always recommend that you ... across the
following categories: real estate, savings or money market accounts,
bonds and other investments.

a) diversity;
b) expand;
¢) spread;
d) vary.

4. It is expected that 180, 000 jobs in the financial services sector will
be ... to low-cost centres by 2010, according to a survey published today.
a) outsized;

b) outsold;
¢) outspread;
d) outsourced.

5. Special ... facilities make available to students an agreed amount
on top of their bank balance; this needn’t be repaid until they are in
full-time employment.

a) overdraft;

b) advance;

¢) credit balance;
d) debit.
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6. The number of times ... is replenished in a year is generally cal-
culated by dividing the annual usage by the average level.
a) list;
b) inventory;
¢) account;
d) register.

VL. Your boss has given you this memo to check. In some lines
there is one wrong word.

If there is a wrong word, write the correct word on your Answer
Sheet. If there is no mistake, put a tick (V) on your Answer Sheet.

... In view of the raising levels of absenteeism over the last 18
months, we ... are carried out an initial investigation of the reason for
absence. The ... mostly frequently reported causes are colds/flu, upset
stomachs ... and back problems. However, managers suggest that other
causes, like ... boring works, emotional and personal problems may also
be factors.

... Before our meeting I would like that you to check absentee fig-
ures for ... your department since last year. This will gave us an over-
view of any trends. I look forward to seeing you next Tuesday.

III BAPUAHT

I. Look at the following messages. Choose the correct variant
for each message.
1. Please take one:
a. If you would like a brochure, please help yourself.
b. If you would like a brochure, please ask one of the staff.
c. Please write to us for further information.

2. We look forward to receiving your order soon.
a. We got your order last week and sent out the goods.
b. I am sorry about the delay in sending out your order.
c. After we get your order we will send out the goods.
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3. We offer the following delivery schedules:
normal — within five working days;
express — within three working days;
special — within twenty-four hours.
a. All the delivery services are equally quick.
b. Normal delivery is suitable for urgent goods.
c. If you want the goods to be delivered next day, use the special service.

4. There has been a big fall in profits.
a. Profits have decreased substantially.
b. We can expect that profit will go down.
c. We are more profitable than last year.

5. You have the right to 20 days’ holiday during the first five years
of employment with us, then it increases to 25 days. In addition, there
are eight public holidays.

a. During the first five years of employment, you will get a total of
25 days’ holiday.

b. There will be more public holidays after you have worked here for
five years.

c. You will get more than 30 days’ holiday after you have been with us
for six years.

6. You will need to get permission from your boss if you order any
products with a value of more than € 50 (or equivalent).
a. You can buy goods worth less than € 50 without asking your boss.
b. Only your boss can order valuable goods.
c. If you buy goods worth more than € 50, you must get a signature
from your boss.

II. Choose the word or phrase which best completes each sentence.
1. We ... the old model to our customers because we wanted to sell
them the new one.
a) weren’t offer;
b) didn’t offer;
¢) didn’t offered;
d) offered not.
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2. After a dispute over working practices, Mary has decided to ... .
Naturally, we are very sorry to see her go.
a) resign;
b) notice;
c) give up;
d) sack.

3. If they ... a good price, we would have bought from them.
a) could have offer;
b) would have offered;
¢) are going to offer;
d) had offered.

4. The government’s policies are beginning to work as ... has fallen
for the last three quarters.
a) job losses;
b) redundancies;
¢) work loads;
d) unemployment.

5. Friday is a ‘casual clothes day’ when we ... to work wearing in-
formal clothes, even jeans.
a) let employees come;
b) make employees come;
¢) let employees to come;
d) make employees to come.

6. Every year we fix a ... for marketing. And every year we go over it.
a) fund;
b) statement;
¢) budget;
d) proposal.

II1. Read the advertisement for a software product. Choose the
best word to fill each space from the words below.

Consume Track is a new software product designed for small re-
tailers to create a profile of their customers. The software does a simple
analysis of (1) ... according to:
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— age;

- sex;

— buying habits.

This information can be used in a number of different ways. Firstly,
it can help your business to (2) ... by pointing out market trends. Sec-
ondly, it can help you to (3) ... new customers. And thirdly, it can help
you to (4) ... your objectives.

This new product, available only online, comes in three versions:
single user, five to ten users, more than ten users. Please contact our
sales team if you would like us to (5) ... you on the best version for
your needs.

1. a) consumers b) professionals  ¢) patrons d) traders
2. a) development  b) increasing C) grow d) raise

3. a) goal b) target c) object d) aim

4. a) arrive b) do c¢) make d) achieve
5. a) suggest b) recommend c) advise d) propose

IV. Choose the word or phrase which best completes each
sentence.

1. Companies interested in bidding for any part of the contract will
be asked to complete and return the ... documents by a given time and
date using the address label provided.

a) offering;

b) tender;

¢) proposition;
d) invitation.

2. ... competition in the components market reduced the company’s
profits to the lowest level for five years.
a) Cut-throat;
b) Slash- throat;
¢) Cutting-edge;
d) Breakneck.

3. Population statistics show a steady rise in ..., aged 65 plus.
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a) the older;
b) the elders;
c) elderly;

d) the elderly.

4. With a customer base of around 7,000 companies, AST have ini-
tiated an aggressive ... against GRG in an effort to win over some of
their \ customers.

a) price cut;
b) price fall;
¢) price war;
d) price conflict.

5. When you prepare for a ... you must ensure your business com-
plies with the legal and regulatory standards required of a public lim-
ited company.

a) stock exchange;
b) flotation;

c) stock list;

d) share market.

6. As production gradually increases until it exceeds orders, you
will see that the ... will similarly begin to fall.
a) excess;
b) bottleneck;
¢) backlog;
d) hold-up.

V. Read the article below about racial equality in the workplace
in the UK and answer the questions. Choose the correct variant.

Why Racial Equality Is Important

Today’s job market
Racial equality in employment is about recognizing and building on
the strengths that people from different ethnics and cultural back-
grounds can bring to your business. It means finding and holding on to
people who have the right knowledge and skills for the job, regardless
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of their race, colour, nationality or ethnic or national background.
It means operating within the law and making sure your business is free
from racial discrimination or harassment. This principles of equality and
fairness apply to all businesses, whatever their size.

To be competitive in today’s world, you need to position yourself
so that you are able to take full advantage of the opportunities open to
you in a rapidly changing labour market.

— Nearly ten per cent of the population of England (and around two
per cent each in Scotland and Wales) are from ethnic minorities.

— People from ethnic minorities will account for half of the growth
on Britain’s working age population over the next decade.

— Eighteen per cent of people from ethnic minorities have degrees
or the equivalent, and over 40 per cent of 18-25 year-olds from ethnic
minorities are busy acquiring degrees, compared with the national aver-
age of 23 per cent.

— Many people from ethnic minorities are fluent in two or more
languages.

— People from ethnic minorities also have invaluable knowledge of
communities, whose total disposable wealth has been estimated at £ 32
billion a year.

The benefits of equal opportunities

Running your business on the principles of racial equality offers
a number of benefits.

— It gives you more choice in recruiting the best person for the job.

— It benefits from new ideas, by drawing in the talents, skills and
different cultural perspectives of a diverse workforce.

— It contributes to a working environment where people feel they
are respected and valued, and are ready to give their best.

— It helps you to hold on to your best workers and avoid the costs
and disruption of recruiting new staff.

— It strengthens your reputation as a good employer.

— It stimulates the development of new products for new markets
and attracts investments.

— It improves customer service and satisfaction.

— It reduces the risk of legal liability to the compensation that an
employment tribunal can order you to make, if you lose a case.

— It makes you a serious competitor for public contracts — local au-
thorities alone spend more than £ 40 billion a year on procurement. Pub-

122



lic authorities have a legal duty to promote race equality in all their ac-
tivities, including those they contract out to suppliers. A good record on
equality will put you in a strong position to bid for contracts where you
have to show you can meet any race equality requirements.

1. The text is addressed to:
a) employers;
b) employees;
¢) people from ethnic minorities;
d) all of the above.

2. Employers in the UK:
a) should employ people from different ethnic backgrounds;
b) must not allow discrimination on the basis of race or colour;
c) must recognize the special talents of people from different ethnic
backgrounds;
d) should follow the relevant laws on harassment.

3. How many 18-25 year olds from the ethnic minorities are cur-
rently studying for a degree?
a) about a quarter;
b) 18 per cent;
¢) about a half;
d) more than 40 per cent.

4. Which of the following statements is true? People from the ethnic
minorities:
a) are all bilingual;
b) only live in England;
¢) will provide half the workforce in the next ten years;
d) posses very important information about affluent groups within so-
ciety.

5. Which of the following statements is false? Employers benefit
from an equal opportunities policy because they:
a) can choose from a wider range of job candidates;
b) can create a workplace where employees are esteemed and appreciated;
c) increase the likelihood of legal action;
d) can aid retention of top employees.
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6. Equal opportunities policies are important when bidding for pub-
lic contracts because:
a) the contracts are worth a lot of money;
b) local authorities must be seen to uphold race equality;
¢) such policies will improve the company’s track record;
d) companies must show race equality before they can make a proposal.

VI. A marketing colleague has given you this advertising text to
check. In some lines there is one wrong word.

If there is a wrong word, write the correct word on your Answer
Sheet. If there is no mistake, put a tick (V) on your Answer Sheet.

... GetlTBack is a data recovery tool. The first version was launch-
ing ... in early 2000. It was the first data recovery tool specifically de-
signed for the ... Black Suite operating system. The new version
GetlTBack Quick can able to ... recover any data regardless of the pro-
gram which created it! We reckon that ... if you purchase a regular data
recovery tool in the past, you probably had ... a significant chance of
failure. If you will use GetlTBack Quick, your success ... is guaran-
teed. What’s more, GetlTBack is now even more easier to install. Just
select your operating system. That’s all!
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Kountposbnas padora Ne 4
(1151 OmoJIorHYeCKUX cnenuajbHocreii, BM)

I BAPUAHT
Task 1. Match diseases with their symptoms. Translate the sen-
tences.
1. Flu a) a burning pain after eating
2. Pneumonia b) a rash starting on body, slightly raised
3. Anulcer ¢) a headache, fever, cough, sneezing
4. Chickenpox d) a swollen painful, joints, stiffness
5. Rheumatism is e) a dry cough, high fever, chest pain
6. Anorexia f) an a‘cute encephalomyelitis caused
by a virus
7 Rabies food intake g) a decrease in appetite voluntary re-

striction of

Task 2. Match the professions with their definitions, translate

the sentences.

1

a) someone who studies the climate

. Chemist
changes
. Climatologist b) someone who helps people with men-
tal problem
Psychiatrist ¢) an animal doctor
' Veterinarian is .d) someone who looks after sick people
in hospital
¢) someone who studies the substances
. Nurse . .
and their properties
f) someone who studies the substances
Healer

and their properties

Task 3. Read the text. Choose the right word or word combina-

tions given below to complete each sentence. Translate the text.

The liver is one of the (1) ... in the organism. It plays a dispensable

part in metabolism of the body. The liver arises in the embryo as an
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evagination of the intestine and develops into a (2) ... which secretory
portions are branching and anastomosing tubules. In the (3) ... the liver
remains in this condition throughout life, but in the mammals its archi-
tecture undergoes a complete remodeling. The liver of mammals is
made u p of (4)... . Each prism represents a lobule of 0,7 to 2 mm in di-
ameter. The periphery of each lobule is translucent and grey. The center
of the lobule is brown. In pigs each lobule is completely surrounded by
a layer of (5) ... and the lobulation is obvious.

1. Polygonal prisms.

2. Lower vertebrates.

3. Important organs.

4. Compound gland.

5. Connective tissue.

Task 4. Choose the right grammar forms. Translate the sen-
tences.
1. He ... to become a good specialist.
a) are going;
b) is going;
¢) am going.

2. I have a day off. I ... this moment.
a) doesn't work;
b) am not working;
¢) am working.

3. It was ... to cultivate this new field than the farmer had thought.
a) difficult;
b) the most difficult;
c¢) more difficult.

4. A farmer ... to milk his cows twice a day.
a) is;
b) must;
¢) have.
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5. Are there ... birds in your garden?
a) some;
b) any;
¢) no.
6. There is ... snow here in winter.
a) few;
b) many;
¢) little.

7. No, we ... lunch yet. We’re starving!
a) didn’t have;
b) hadn’t;
c¢) haven’t.

8. The train was almost empty ... if arrived at last station.
a) after;
b) while;
¢) by the time.

9. Moudy’s dogs are ... going for a walk first thing in the morning.
a) used to;
b) get used to;
¢) being used to.

10. The snow was falling heavily and ... houses in the village were
white.
a) all of;
b) all;
c) all the.

11. My mother is very ... pink roses.
a) fond about;
b) fond of;
¢) fond with.

12. I hope we ... park in the road behind the club.
a) need;
b) can;
¢) must.
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Task 5. Complete the sentences with one of the words given bellow.

1. Chimpanzees use different ... to communicate with each other.

2. You should serve your pet's ... in a special place in the house.

3. If your pet rejects fresh ... for more than half a day, it may be
unwell.

4. Meal ... should contain high levels of water as well as protein.

5. All kittens must be vaccinated against enteritis and ... .

6. How do ... learn about their surrounding?

7. Lions live in groups called ... .

a) sounds
b) food

c) diets

d) influenza
¢) meals

f) prides

g) mammal

Task 6. Read the text and make the tasks: given below .Give the
written translation of the text.

Saving The Snow Leopards

a. So beautiful. So threatened. The snow leopard, a symphony in
gray, white and black, may well be the most beautiful of all. The beauty
of its fur makes the snow leopard a favorite with poachers. Their raids
have reduced its population to 3,500-7,000, all of them found in the re-
mote reaches of Central Asia.

b. That the snow leopards have survived at all is thanks to such pio-
neering ecologist as Thorsten Harder. Stationed since 1993 in the Central
Asian republic of Kyrgystan, this German scientist established a nature
conservation area in the country two years later. His work quickly made
him aware of the desperate plight of the snow leopards, of which only
260 are left in the country. To save them, Harder found a powerful ally.

c. In 1998, NABU, based in Germany and one of the world’s larg-
est and most active citizen-for-nature groups, signed an agreement with
Kyrgystan’s environment ministry. Centerpiece of the agreement was
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the founding of Grupa Bars in 1999. Since then, this unit has caught
150 poachers and freed 5 snow leopards. The unit’s four rangers have
also liberated wolves, hawks and other rare species from the poachers’
clutches.

1. Choose the title for each part of the text:
. Rangers’ activities.
. Shortening of snow leopards population.
. The nature reserve founder.

o o e

2. Answer the questions:
. What makes the snow leopard attractive for the poachers?
. Who was a founder of the Central Asian nature reservation?
. What is the aim of Grupa Bars?

o o e

3. Find the synonyms of the following words from the text:
. Menacing.
. Beloved.
. Shorten.
. Preservation.
. Agonizing.

o o0 o e

4. Give the English equivalents to the following and find them in
the text:
a. bpakoHnbep.
b. [Tepronpoxoer.
c. DOKoJIor.
d. JlecHnuwid.
€. YUeHBIN.

5. Complete the sentences using the text:
.. makes them a favorite ...

.. raids have shortened ...

.. make him aware ...

.. the agreement was ...

.. have also liberated ...

o a0 o
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II BAPUAHT

Task 1. Match the diseases with their symptoms. Translate the
sentences.
a) an acute or chronic inflammation of the gas-

Inappetence tricmucuous membrane

Gastritisis b) a temporary decrease in appetite

Polyphagia c¢)an increased appetite and thirst

Bloat d) an excess storage of fat in liver cells

Lipidosis e) an e)‘ccessive accumulation of gas in the rumen
and reticulum

Constipation f)a highly cpntagious disease, common in do-
mestic rabbits

Pasteurellosis g) a condition in which the animal is unable to

move its bowels

Task 2. Match the professions with their definitions, translate
the sentences.

. a) someone who studies matter, movement and
1. Ecologist

force
2. Biologist b) someone whose job is to look after the wood
3. Physicist c) a scientist who studies about the living things
4. Forester d) someone who looks after the plants
5. Gardener ¢) someone who studies the environments
6. Surgeon f) someone who is engaged in animal growing
7. Breeder g) someone who operates on sick people

Task 3. Read the text. Choose the right word or words combi-
nations given below to complete each sentence. Translate the text.

The lobule of the liver in cross section has five, six or seven sides.
The diameter of the (1) ... is smaller than the height of the lobule. The
central vein is running through the center of lobule. The branches of
the (2) ... (introlobular vein) the introlobular bile ducts, branches of
the (3) ... are at the periphery. The limphatics form a network about
the portal vein and its branches. The principal afferent (4) ... of the
liver is the portal vein. It collects the blood from the visera of the
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(5) ... and from the spleen and enters the liver at the portal together
with the hepatic artery.

1. Blood vessel.

2. Hepatic artery.

3. Digestive tract.

4. Portal vein.

5. Cross-section.

Task 4. Choose the right grammar forms. Translate the sentences.
1. I ... to replace this article in my thesis.

a) are going;

b) is going;

¢) am going.

2. Don’t make noise. We ... now.
a) doesn't work;
b) are not working;
c) are working.

3. Some cattle breeds require ... climate for growth than others.
a) hottest;
b) more hot;
c) hotter.

4. New recycling water system ... to be installed on the farm.
a) is;
b) must;
¢) have.

5. We don’t have ... pets at home.
a) some;
b) any;
¢) no.

6. There is ... grass on the ground.
a) few;
b) many;
¢) much.
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7. Mr. and Mrs. Rossi ... the farm since 1987.
a) have been owning;
b) have owned;
c) own.

8. People ... use the tennis courts more at the weekend than during
the week.
a) use to;
b) get used to;
¢) used to.

9. ... trees in the wood had to be checked for disease.
a) all the;
b) each;
c) all of.

10. You should never eat or drink anything immediately ... doing a
yoga class.
a) until;
b) once;
c) before.

11. Most of the class ... studying grammar.
a) tired at;
b) tiring of;
¢) tired of.

12. Wearing high heels in the snow ... be dangerous.
a) can;
b) must;
¢) couldn’t.

Task 5. Complete the sentences with one of the words given
bellow.

1. There were so many mice in the house that we had to buy a
mouse ... .

2. We collect honey from our bee ... .
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3. There is a rabbit ... in the corner of the field.

4. Martin was wearing imitation snake ... boots.
5. Be careful! Our cat has very sharp ... .

6. In general both cats and dogs are ... .

7. ... 1is an important factor in cat’s and dog’s life.

a) omnivorous
b) feeding

¢) skin

d) hive

e) claws

f) trap

g) hole

Task 6. Read the text and make the tasks given below. Give the
written translation of the text.

Kanga Killers

a. In 1972 the Australian government introduced a quota system
which allowed a certain number of kangaroos to be killed every year.
Legislation was introduced because farmers claimed that the kangaroos
were ruining their crops. The problem is that although two and half mil-
lion kangaroos can be killed legally each year, a further two and a half
million are killed illegally.

b. The animals are killed for a variety of reasons. The main one,
however, is that kangaroo meat is sold for human consumptions- usually
in the form of steaks- or is used as pet food. There are also thousands of
dollars to be made from the sale of their skins.

c. The environmental group Greenpeace and Australia’s animal
Liberation (AAL) are now campaigning for a ban on the sale of all kan-
garoo products. They hope that it will stop unscrupulous farmers killing
the animal for profit. A spokesman for AAL said, «People aren’t con-
cerned because there are still six million kangaroos in Australia so they
are hardly an endangered species. People just don’t care about issues
like this until is a real threat. But we know certain types have already
become extinct in some areas. We must act now before it is too latey.
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1. Choose the title for each part of the text:
a. The causes of kanga extermination
b. The human assistance in saving kanga population.
c. Limiting system of killing kanga.

2. Answer the questions:
a. What makes the kangaroos the legal human victims?
b. What is the main aim of killing kangaroos?
c. How can people stop inexplicable destruction of Australian kanga?

3. Find the synonyms of the next words in the text:
a) permit
b) destructing
c) cause
d) intake
¢) unabashed

4. Give the English equivalents to the next words and find them in
the text:
a) 3aKOHOJAaTEITLCTBO
b) ypoxait
¢) notpebicHue
d) oOBeIUHATHCS
¢) Bua (0coOh)

5. Complete the sentences using the text:
.. farmers affirmed that ...
.. for a different reasons.
.. are now uniting for a ...
.. about problem like this ...
.. have to act ...

oo o

III BAPUAHT

Task 1. Match diseases with their symptoms. Translate the sen-
tences.
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a) an acute or chronic inflammation of the gastric

Dermatitis

mucuous membrane
Rabies b) a temporary decrease in appetite
Pneumonia ¢) an allergy skin disease
Gastritis d) an acute encephalomyelitis caused by virus
Flu e¢) headache, fever, cough, sneezing
Inappetence f) dry cough, high fever, chest pain
Ulcer g) burning stomach pain after eating

Task 2. Match the professions with their definitions, translate
the sentences.

Gene‘r E.ll a) someone who treats the animal

practitioner

Biologist b) someone whose job is to look after the wood
Veterinarian c) a scientist who studies about the living things
Forester d) someone who deals with climatic changes
Climatologist e) someone who engaged in animal growing
Surgeon f) someone who operates on sick people
Breeder g) an ordinary doctor

Task 3. Read the text. Choose the right word or words combi-
nations given below to complete each sentence. Translate the text.

The liver is the (1) ... of the organism. It plays a great role in the
(2) ... of the body. It is situated in the upper right quadrant of the
(3) ..., and a part of its surface attaches to the diaphragm. The principal
afferent (4) ... of the liver is portal vein. The blood is drained from the
liver by two or more hepatic veins. Most (5) ... have one large round
nucleus, although binucleated cells are not uncommon. One of the most
important functions of the liver is the formation of glycogen. It increas-
es in the liver after meals and decreases fasting, and may even disappear
completely.

1. Abdominal cavity.

2. Largest gland.

3. Blood vessel.

4. Liver cells.

5. Metabolism.
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Task 4. Choose the right grammar forms. Translate the sen-
tences.
1. They ... to buy new equipment for this experiment.
a) are going;
b) is going;
¢) am going.

2. What ... now?
a) are you do;
b) do you doing;
¢) are you doing.

3. Mother’s milk is the ... feed for calves and lamb.
a) better;
b) good;
c) best.

4. A large commercial company ... to start producing nutritive sup-
plements for poultry.
a) is;
b) must;
c) can.

5. I want to show you... pictures of these animals.
a) some;
b) any;
¢) no.

6. There is ... snow in winter.
a) few;
b) many;
¢) much.

7.1 ... that there is a bird nesting in that tree.
a) have noticed just;
b) have just noticed;
¢) just have noticed.
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8. Did May always ... feed the horses, or did you do it sometimes?
a) would;
b) used to;
c) use to.

9. ... time Emma comes into the room, Joshua blushes!
a) all the;
b) every;
¢) each of the.

10. Sarah hasn’t been feeling very well ... . I hope she’s OK.
a) later;
b) lately;
¢) late.

11. The little dog used to ... when he went for a bike ride.
a) run him after;
b) after him run;
¢) run after him.

12. To ... keep calm in a crisis is a very valuable ability.
a) succeed in;
b) can;
c) be able to.

Task 5. Complete the sentences with one of the words given
bellow.

1. As my dog is very big and disobedient, [ keep itona ... .

2. We had to sleep under a ... not to be bitten by mosquitoes.

3. Our dog never got used to sleeping in its ... .

4. A dirty black lamb was following the ... .

5. An enormous black spider was spinning its ... across the window.

6. ... are the animals with backbones.

7. Animal which eats animal is ... .

a) carnivore
b) flock
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c) web

d) kennel

e) lead

) net

g) vertebrates

Task 6. Read the text and make the tasks given below. Give the
written translation of the text.

Animal Rights And Wrongs

a. In the 1980’s there were a few million experiments on animals in
Britain. The animals that are used are mice, rats, guinea pigs ,rabbits,
cats, dogs, etc. Experiments include everything from trials of new pet
foods to experiments in which dogs and monkeys are forced to smoke
continuously, or are deliberately injured to test the effects of pain-
killing drugs.

b. There have been protests from animal rights groups about exper-
iments on animals (vivisection) for many years. Extreme groups have
raided laboratories and released animals, and some scientists have had
their homes painted with slogans and have even received letter bombs.
Attitudes to animals vary greatly between two extremes. Some of us
regard animals as almost human. How should we react to animals? How
do we feel about these situations?

c. Dolphins and whales ,who are considered by many scientists to
be intelligent, are still being hunted and killed. Calves and other animals
are «factory farmed» Calves , for example, are kept in the dark, unable
to move, so as to produce white tender meat(veal).Most eggs are pro-
duced by battery hens kept in similar conditions, although many people
are ready to pay more for «free-range eggs».

1. Choose the title for each part of the text:
a. Means of the protest against experiments on animals.
b. Cruel methods of animal destruction.
c. Experimental animals.
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2. Answer the questions:
a. Which ten years have been the hottest since records began?
b. What is the most likely cause of global warming?
c. What products of human activity are mainly responsible for the
warming up of the globe?

3. Find the synonyms of the next words in the text:
a) meals;
b) to make smb. do smth.;
¢) to drive;
d) to respond;
e) soft.

4. Give the English equivalents to the next wordsand find them in
the text:
a) UCTIBITAHWS,
b) HamepeHHO;
¢) 00e300TMBATOIITHIA;
d) obnasa (Haner);
€) pa3yMHBIH.

5. Complete the sentences using the text:
a) ... to experiments in which ...
b) ... protests from animal ... .
c) ... differ greatly ...
d) ... are thought by many ...
e) ... incapable to move ...
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